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Section 1 - Reasoning 
 

 

No. of Questions: 50  

 
 

1) Select one of the following four options that will make the second pair analogous to the first pair 
given as: 
 
Ants : Nest :: Bees : ?  

A)  Herd  

B)  Flock  

C)  Hive  

D)  Family  
 

 
 

1) निम्िलिखित चार विकल्पों में से एक का चयि करें जो दसूरी जोड़ी को पहिी जोड़ी के समरूप बिाएगा: 
 

च़ीींटियााँ: बाींब़ी :: मधमुक्खियाीं :?  

A)  झुींड  

B)  समूह  

C)  छत्ता  
D)  पररिार  

 

 
 

2) What is the next term in the number series given below? 
 
57, 57, 46, 46, 35, _____  

A)  12  

B)  35  

C)  19  

D)  29  
 

 
 

2) ि़ीच ेदी गई सींख्या श्रींििा में अगिा पद खया है? 

 
57, 57, 46, 46, 35, _____  

A)  12  

B)  35  
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C)  19  

D)  29  
 

 
 

3) 57 is to 19 as 81 is to ___  

A)  23  

B)  27  

C)  29  

D)  34  
 

 
 

3) 57 क्जस प्रकार से 19 स े सम्बक्धधत है, उस़ी प्रकार 81, ______ ?  

A)  23  

B)  27  

C)  29  

D)  34  
 

 
 

4) In a certain code, ‘731’ is coded as ‘study very hard’, ‘953’ is coded as ‘hard work pays’ and 
‘145’ is coded as ‘study and work’. Which digit in that code is coded as ‘very’?  

A)  1  

B)  7  

C)  4  

D)  9  
 

 
 

4) एक निक्चचत कूि में, '731' का अर्थ है  ‘study very hard’, '953' का अर्थ है ‘hard work pays’ और '145' का 
अर्थ है ‘study and work’. निम्िलिखित में से कौि स़ी सींख्या 'very' का कूि होग़ी ?  

A)  1  

B)  7  

C)  4  

D)  9  
 

 
 

5) Which of the following statements can be used to answer the given question?  
 
Question : Which day of the week is today?  

A)  Today is not a Tuesday  
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B)  Yesterday was Wednesday  

C)  Tomorrow is not a Sunday  

D)  Problem cannot be solved  
 

 
 

5) इस समस्या पर निर्थय िेिे के लिए निम्िलिखित में से ककस कर्ि का उपयोग ककया जा सकता है: 

 

प्रचि  : आज सप्ताह का कौि सा टदि है?  

A)  आज मींगििार िहीीं है  

B)  कि बुधिार र्ा  
C)  कि रवििार िहीीं है  

D)  समस्या हि िहीीं की जा सकत़ी है  
 

 
 

6) How many triangles are there in the following figure? 
   

 

 

A)  6  

B)  8  

C)  10  

D)  12  
 

 
 

6) निम्िलिखित आकर नत में ककतिे त्रिभुज हैं? 
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A)  6  

B)  8  

C)  10  

D)  12  
 

 
 

7) Which of the following sets is NOT similar to the given set?  
 
(May, July, October)  

A)  (January, March, May)  

B)  (May, August, December)  

C)  (April, July, October)   

D)  (January, May, July)   
 

 
 

7) निम्िलिखित में से कौि सा सेि टदए गए सेि के समाि िहीीं है? 

 

(मई, जुिाई, अखिूबर)  

A)  (जििरी, माचथ, मई)  

B)  (मई, अगस्त, टदसींबर)  
C)  (अप्रैि, जुिाई, अखिूबर)  
D)  (जििरी, मई, जुिाई)  

 

 
 

8) Which of the following questions can be answered by using the given statements? 
 
Statements: 
 
A) Shyam is brother of Rahul  



Set Id : 61814_3 Technical Assistant (LAB) - Chemistry_BATCH3_18OCT2020 

Page5of85  

B) Radha is sister of Shyam 

  

 

A)  Who is father of Radha?  

B)  Who all are brothers of Radha?  

C)  Is Shyam a brother of Radha?  

D)  Is Madhu mother of Shyam?  
 

 
 

8) टदए गए कर्िों का उपयोग करके निम्िलिखित में से ककस प्रचि का उत्तर टदया जा सकता है? 

 

कर्ि :  

 

A) चयाम राहुि का भाई है। 
 

B) राधा चयाम की बहि है। 
   

A)  राधा का वपता कौि है?  

B)  राधा के सभ़ी भाई कौि हैं?  

C)  खया चयाम राधा का भाई है?  

D)  खया मध ुचयाम की मााँ है?  
 

 
 

9) Meena is twice as old as Shina. 3 years ago, Meena was thrice as old as Shina. What is the 
present age of Meena?  

A)  12 years  

B)  8 years  

C)  6 years  

D)  4 years  
 

 
 

9) म़ीिा श़ीिा स ेदोगुि़ी बड़ी है। त़ीि साि पहिे, म़ीिा श़ीिा से नतगिु़ी बड़ी ऱ्ी। म़ीिा की ितथमाि उम्र खया है?  

A)  12 िर्थ  
B)  8 िर्थ  
C)  6 िर्थ  
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D)  4 िर्थ  
 

 
 

10) Showing a photograph, Priya said, "he was the only son of the father of my sister’s 
brother." How is that person related to Priya?  

A)  Brother in law  

B)  Father  

C)  Son  

D)  Brother  
 

 
 

10) एक फोिो टदिाते हुए तेजा िे कहा कक िह मेरी बहि के भाई के वपता का एकमाि पुि है। िह व्यक्खत तेजा का 
खया िगता है?  

A)  माता  
B)  वपता  
C)  चचरेा भाई  

D)  भाई  
 

 
 

11) Given below are four pairs of numbers. In three of the pairs, the 2nd number is related to the 
first number in the same logical way. Which is the odd one out?+  

A)  123 - 6  

B)  257 - 14  

C)  235 -10  

D)  712 - 8  
 

 
 

11) ि़ीच ेसींख्याओीं के चार जोड ेटदए गए हैं। त़ीि जोडों में, दसूरी सींख्या उस़ी ताककथ क तरीके से पहिी सींख्या से 
सींबींधधत है। कौि स़ी जोड़ी विर्म है?+  

A)  123 - 6  

B)  257 - 14  

C)  235 -10  

D)  712 - 8  
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12) In what way can the terms of the given set be divided into two different sets on the basis 
of vowels and consonants? 
(B, H, T, E, O, A, M, U, P)  

A)  (E, T, A , U) and (B, H, O, M, P)  

B)  (E, O, A , U) and (B, H, T, M, P)   

C)  (H, O, A , U) and (B, E, T, M, P)  

D)  (E, O, A , B) and (U, H, T, M, P)   
 

 
 

12) ककस तरीके से इस समुच्चय को दो विलभधि सेिों में स्िरों और व्यींजिों  के आधार पर िगीकर त ककया जा सकता 
है?  

(B, H, T, E, O, A, M, U, P)  

A)   (E, T, A , U) और (B, H, O, M, P)  

B)   (E, O, A , U) और (B, H, T, M, P)  

C)   (H, O, A , U) और (B, E, T, M, P)  

D)  (E, O, A , B) और (U, H, T, M, P)  
 

 
 

13) What is the minimum number of cuts required to form 64 small identical cubes from a bigger 
cube?  

A)  5  

B)  7  

C)  9  

D)  10  
 

 
 

13) एक बड ेघि से 64 छोिे घि बिािे के लिए धयूितम ककतिे काि की आिचयकता है?  

A)  5  

B)  7  

C)  9  

D)  10  
 

 
 

14) Select one of the following four options that will make the second pair analogous to the first 
pair given as: 
   
Dog : Bitch :: Drone : ? 
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A)  Bear  

B)  Bee  

C)  Doe  

D)  Stag  
 

 
 

14) निम्िलिखित चार विकल्पों में से एक का चयि करें जो दसूरी जोड़ी को पहिी जोड़ी के समरूप बिा देगा:  
कुत्ता : कुनतया :: ड्रोि: ____________ 

 

A)  भािू  
B)  मधमुखि़ी  
C)  टहरऱ्ी  
D)  बारहलसींगा  

 

 
 

15) Read the information given below and answer the question that follows: There are six teachers 
A, B, C, D, E and F in a school. Each of the teachers teaches two subjects - one compulsory and 
one optional. D’s optional subject is History while 3 others have it as compulsory subject. E and F 
have Physics as one of their subjects. F’s compulsory subject is Mathematics which is an optional 
subject of both C and E. History and English are A’s subjects but in terms of compulsory and 
optional subjects, they are just reverse of those of D’s. Chemistry is an optional subject of only one 
of them. The only female teacher in the school has English as her compulsory subject.  
   
What is C's compulsory subject? 

 

A)  History  

B)  Physics  

C)  Chemistry  

D)  Mathematics  
 

 
 

15) ि़ीच ेदी गई जािकारी पढें और इस सिाि का जिाब दें: 
 
  

एक विद्यािय में छह लशक्षक A, B, C, D, E और F हैं। प्रत्येक लशक्षक दो विर्यों को पढाते हैं  - एक अनििायथ विर्य 

और एक िैकक्ल्पक। D का िैकक्ल्पक विर्य इनतहास है जबकक 3 अधय िोगों का यह अनििायथ विर्य है। E और 
F  के  विर्यों में स ेएक भौनतकी है। F का अनििायथ विर्य गखर्त है जो C और E दोिों का एक िैकक्ल्पक विर्य है। 
इनतहास और अींगे्रज़ी A के विर्य हैं, िेककि अनििायथ और िैकक्ल्पक विर्यों के सींदभथ में, िे D के ठीक  विपरीत हैं। 
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रसायि  उिमें स ेकेिि एक का िैकक्ल्पक विर्य है। स्कूि में एकमाि मटहिा लशक्षक के पास अनििायथ विर्य के रूप 

में अींगे्रज़ी है। 
 
  

C का अनििायथ विर्य खया है?  

A)  इनतहास  

B)  भौनतकी  
C)  रसायि  

D)  गखर्त  
 

 
 

16) In a row of children, G is sixteenth from the left end of the row. If she is shifted towards the 
right by four places, then she becomes fifth from the right end. How many children are there in the 
row?  

A)  24  

B)  25  

C)  26  

D)  23  
 

 
 

16) बच्चों की एक पींक्खत में, G पींक्खत के बाएीं छोर स ेसोिहिें स्र्ाि पर है। यटद उसे चार स्र्ाि दाय़ीीं ओर 
स्र्ािाींतररत ककया जाता है, तो िह दाटहिे छोर से पाींचिें स्र्ाि पर आ जात़ी है। पींक्खत में ककतिे बच्च ेहैं?  

  

 

A)  24  

B)  25  

C)  26  

D)  23  
 

 
 

17) What is the next term in the number series given below? 
 
3, 4, 6, 10, 18, 34, ____   

A)  65  

B)  68  

C)  70  

D)  66  
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17) ि़ीच ेदी गई सींख्या श्रींििा में अगिा पद खया है? 

 
3, 4, 6, 10, 18, 34, ____  

A)  65  

B)  68  

C)  70  

D)  66  
 

 
 

18) What is the missing term in the number series given below? 
 
34.5, 71, ____, 868, 4345, 26076  

A)  280  

B)  216  

C)  198  

D)  149  
 

 
 

18) ि़ीच ेदी गई सींख्या श्रींििा में अिुपक्स्र्त पद खया है? 

 
34.5, 71, ____, 868, 4345, 26076  

A)  280  

B)  216  

C)  198  

D)  149  
 

 
 

19) What is the next term in the number series given below? 
 
31, 8, 4.5, 5.5, 13, 56, ____   

A)  512  

B)  648  

C)  560  

D)  456  
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19) ि़ीच ेदी गई सींख्या श्रींििा में अगिा पद  है? 

 
31, 8, 4.5, 5.5, 13, 56, ____  

A)  512  

B)  648  

C)  560  

D)  456  
 

 
 

20) Within a time-interval a train travels 84 km whereas a bus travels 38 km. How long will the train 
travel when the bus travels 95 miles?  

A)  150 kms  

B)  168 kms  

C)  210 kms  

D)  320 kms  
 

 
 

20) एक समय अींतराि के भ़ीतर एक टे्रि 84 ककम़ी यािा करत़ी है, जबकक एक बस 38 ककम़ी की यािा करत़ी है। जब 

बस 95 म़ीि की यािा करत़ी है, तो टे्रि ककति़ी दरूी की यािा करेग़ी?  

A)  150 ककम़ी  
B)  168 ककम़ी  
C)  210 ककम़ी  
D)  320 ककम़ी  

 

 
 

21) In a certain code ‘123’ is coded as ‘hot filtered coffee’, ‘356’ is coded as ‘very hot day’ and ‘589’ 
is coded as ‘day and night’. Which digit in that code is coded as ‘very’?  

A)  3  

B)  5  

C)  9  

D)  6  
 

 
 

21)  एक निक्चचत कूि भार्ा में '123' को ‘hot filtered coffee' के रूप में, '356' को ‘very hot day’’ के रूप में और 
'589' को ‘day and night’, के रूप में लििा गया है। इस भार्ा में कौि स़ी सींख्या 'very' के रूप में कूिबद्ध है?   

A)  3  
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B)  5  

C)  9  

D)  6  
 

 
 

22) If AIR is coded as GREEN, GREEN is coded as BLUE, BLUE is coded as SKY, SKY is coded 
as YELLOW and YELLOW is coded as WATER, then what would be the code for ‘colour of clear 
sky’?  

A)  BLUE  

B)  WATER  

C)  YELLOW  

D)  SKY  
 

 
 

22) यटद AIR को GREEN के रूप में , GREEN को BLUE के रूप में, BLUE को SKY के रूप में कूिबद्ध ककया 
गया है,  SKY को YELLOW के रूप में और YELLOW को WATER के रूप में कूिबद्ध ककया गया है, तो 'clear 

sky के रींग’ का कूि खया होगा?  

A)  BLUE  

B)  WATER  

C)  YELLOW  

D)  SKY  
 

 
 

23) In a certain code, ‘256’ is coded as ‘you are good’, ‘637’ is coded as ‘we are bad’ and ‘358’ is 
coded as ‘good and bad’. Which digit in that code is coded as ‘and’?  

A)  8  

B)  6  

C)  3  

D)  7  
 

 
 

23) एक निक्चचत कूि भार्ा में '256' को ‘you are good' के रूप में, '637' को ‘we are bad’ के रूप में और '358' को 
‘good and bad' के रूप में लििा गया है । कौि स़ी सींख्या 'and' का कूि है ?  

A)  8  

B)  6  

C)  3  

D)  7  
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24) Which of the following statements can be used to answer the given question?   
 
Question :  
 
What will be the next month if it does NOT have 30 days? 
 
Statements :  

A) Current month has 31 days. 

B) Current month is NOT the first or last month of the year. 

 

A)  Only A  

B)  Only B  

C)  Both A and B together  

D)  Not possible to decide even with both A and B  
 

 
 

24) टदए गए प्रचि का उत्तर देिे के लिए निम्िलिखित में से ककस कर्ि का उपयोग ककया जा सकता है? 

 

प्रचि: 

अगिा महीिा कौि सा होगा अगर उसमें 30 टदि िहीीं होंगे? 

 

कर्ि: 

A) ितथमाि महीि ेमें 31 टदि हैं। 
B) ितथमाि महीिा िर्थ का पहिा या अींनतम महीिा िहीीं है।  
  

 

A)  केिि A  

B)  केिि B  

C)  A और B दोिों एक सार्  

D)  A और B दोिों के सार् भ़ी निर्थय करिा सींभि िहीीं है  
 

 
 

25) How many triangles are there in the following figure? 
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A)  12  

B)  13  

C)  14  

D)  15  
 

 
 

25) निम्िलिखित धचि में ककतिे त्रिकोर् हैं? 

   

 

 

A)  12  

B)  13  

C)  14  

D)  15  
 

 
 

26) Which of the following options does NOT have the same property as the elements of the given 
set? 
 
(3, 81, 243, 729, 2187)  

A)  9  

B)  27  

C)  15309  

D)  6561  
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26) निम्िलिखित में से ककस विकल्प में टदए गए सेि के तत्िों के समाि गुर् िहीीं हैं ? 

 
(3, 81, 243, 729, 2187)  

A)  9  

B)  27  

C)  15309  

D)  6561  
 

 
 

27) Which of these options can be judged from one of the remaining three options?  

A)  P is an even number  

B)  P is the square root of a number  

C)  P is a perfect square  

D)  P is not prime  
 

 
 

27) इिमें से कौि सा विकल्प शरे् त़ीि विकल्पों में से एक से आींका जा सकता है?  

A)  P सम सींख्या है  

B)  P एक सींख्या का िगथ मूि है  

C)  P पूर्थ िगथ है  

D)  P अभाज्य सींख्या िहीीं है  
 

 
 

28) The head of the department of an office is 26 years old while the cashier is 3 years older. The 
average age of all the other 9 employees will be reduced by 1 year, if these two persons are 
excluded. What is the average age of the employees in that office?  

A)  23 years  

B)  25 years  

C)  27 years  

D)  28 years  
 

 
 

28) एक कायाथिय के विभाग के मुखिया की आयु 26 िर्थ है, जबकक कैलशयर उसस े3 िर्थ बडा है। यटद इि दो 
व्यक्खतयों को शालमि िहीीं ककया जाए, तो अधय सभ़ी 9 कमथचाररयों की औसत आयु एक िर्थ कम हो जाएग़ी। उस 

कायाथिय में कमथचाररयों की औसत आय ुककति़ी है?  

A)  23 िर्थ  
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B)  25 िर्थ  
C)  27 िर्थ  
D)  28 िर्थ  

 

 
 

29) Seeta's mother's sister's only brother is Ramesh. How is Seeta related to Ramesh?  

A)  Aunt  

B)  Sister  

C)  Niece  

D)  Daughter  
 

 
 

29) स़ीता की माीं की बहि का इकिौता भाई रमेश है। स़ीता का सींबींध रमेश से कैसे है?  

A)  चाच़ी  
B)  बहि  

C)  भाींज़ी  
D)  बेिी  

 

 
 

30) Pointing Sumana, Samar said, “Her mother’s brother is the son of my mother’s father.” How is 
Sumana’s mother related to Samar?  

A)  Aunty  

B)  Sister  

C)  Mother  

D)  Daughter  
 

 
 

30) सुमि की ओर इशारा करते हुए, समर िे कहा, "उसकी मााँ का भाई मेरे माता के वपता का पुि है।" सुमि की मााँ का 
समर से खया ररचता है?  

A)  मास़ी  
B)  बहि  

C)  माता  
D)  बेिी  
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31) Among the given pairs of terms, identify the option in which the pair of terms is NOT similar to 
each other?  

A)  JAM - 24  

B)  BORE - 40  

C)  KITE - 47  

D)  LOOP - 58  
 

 
 

31) टदए गए पदों के जोड ेमें से, उि विकल्पों की पहचाि करें क्जिमें पदों की जोड़ी एक-दसूरे के समाि िहीीं है?  

A)  JAM - 24  

B)  BORE - 40  

C)  KITE - 47  

D)  LOOP - 58  
 

 
 

32) In the following figural series, which answer figure will complete the pattern?  

 
 

A)  1  

B)  2  

C)  3  

D)  4  
 

 
 

32) निम्िलिखित आकर नत श्रींििा में, कौि स़ी उत्तर आकर नत पैििथ को पूरा करेग़ी ?  

 

 

A)  1  
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B)  2  

C)  3  

D)  4  
 

 
 

33) In the following figural series, which answer figure will complete the pattern?  

 

 

A)  1  

B)  2  

C)  3  

D)  4  
 

 
 

33) निम्िलिखित आकर नत श्रींििा में कौि स़ी उत्तर आकर नत पैििथ को पूरा करेग़ी?  

 

 

A)  1  

B)  2  

C)  3  

D)  4  
 

 
 

34) In the following figural series, which answer figure will come next?  
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A)  1  

B)  2  

C)  3  

D)  4  
 

 
 

34) निम्िलिखित आकर नत श्रींििा में, कौि स़ी आकर नत अगिी उत्तर आकर नत होग़ी?  

 

 

A)  1  

B)  2  

C)  3  

D)  4  
 

 
 

35) In what way can the terms of the given set be divided into two different sets such that the terms 
in each set are similar? 
(8, 36, 27, 81, 125, 49)  

A)  (36, 81, 49) and (8, 27, 125)  

B)  (36, 81, 125) and (8, 27, 49)   

C)  (36, 27, 49) and (8, 81, 125)   

D)  (8, 81, 49) and (36, 27, 125)   
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35) ककस तरह स ेटदए गए सेि के पदों को  दो विलभधि सेिों में िगीकर त ककया जा सकता है कक प्रत्येक सेि के पद एक 

दसूरे के समरूप हों?    

(8, 36, 27, 81, 125, 49)  

A)  (36, 81, 49) और (8, 27, 125)  

B)  (36, 81, 125) और (8, 27, 49)  

C)  (36, 27, 49) और (8, 81, 125)  

D)  (8, 81, 49) और (36, 27, 125)  
 

 
 

36) A big cube is made from 729 identical smaller cubes and is painted on all the faces. What is 
the number of smaller cubes that have atmost two faces painted?  

A)  562  

B)  821  

C)  640  

D)  721  
 

 
 

36) एक बडा घि  729 समाि छोिे घिों से बिाया गया है और इसके सभ़ी फिको को पेंि ककया गया है। ऐसे छोिे 

घिों की सींख्या ककति़ी है, क्जिके अधधक से अधधक दो फिक रींगें हुए हैं?  

A)  562  

B)  821  

C)  640  

D)  721  
 

 
 

37) Select one of the following four options that will make the second pair analogous to the first 
pair given as:  
   
Disabled : Retarded :: Liberated : ? 
 

A)  Captured  

B)  Free  

C)  Privileged  

D)  Liberal  
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37) निम्िलिखित चार विकल्पों में से एक का चयि करें जो दसूरी जोड़ी को पहिी जोड़ी के समरूप बिा देगा: 
  

अक्षम: मनतमींद :: मुखत:?  

A)  बधदी   
B)  स्िछधद   

C)  विशरे्ाधधकारप्राप्त   

D)  उदार   
 

 
 

38) Select one of the following four options that will make the second pair analogous to the first 
pair given as: 
 
(2+3+5) : 30 :: (3+5+7) : _________ .  

A)  105  

B)  120  

C)  145  

D)  160  
 

 
 

38) निम्िलिखित चार विकल्पों में से एक का चयि करें जो दसूरी जोड़ी को पहिी जोड़ी के समरूप बिा देगा:  
(2+3+5) : 30 :: (3+5+7) : _________ . 

 

A)  105  

B)  120  

C)  145  

D)  160  
 

 
 

39) A, B, C, D and E play a game of cards. A says to B, "If you give me 3 cards, you will have as 
many cards as E has and if I give you 3 cards, you will have as many cards as D has”. A and B 
together have 10 cards more than what D and E together have. If B has 2 cards more than what C 
has and the total number of cards is 133, then how many cards does B have?  
  

 

A)  22  

B)  23  

C)  25  

D)  35  
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39) A, B, C, D और E ताश का िेि िेिते हैं। A, B स ेकहता है, "यटद आप मझु े3 काडथ देते हैं, तो क्जति ेकाडथ E के 

पास हैं आपके पास उतिे ही काडथ  होंगे और यही मैं आप को त़ीि काडथ देता हूीं तो आपके पास D के क्जतिे काडथ 
होंगे।  A और B  दोिों के पास लमिाकर 10 काडथ है जो  D और E दोिों के कुि काडथ स ेअधधक है। यटद B के पास C से 
2 काडथ अधधक हैं और काडथ को कुि सींख्या 133 है तो तो B के पास ककति ेकाडथ हैं?  

A)  22  

B)  23  

C)  25  

D)  35  
 

 
 

40) A bought 3 apples and 4 bananas for ₹ 80 while B bought 4 apples and 3 bananas for ₹ 95 
from the same shop. What is the difference between the price of one apple and one banana?  

A)  ₹ 5  

B)  ₹ 10  

C)  ₹ 15  

D)  ₹ 20  
 

 
 

40) एक ही दकुाि से एक टदि A िे 3 सेब और 4 केिे ₹ 80 में  ख़रीदा और B िे 4 सेब और 3 केिे ₹ 95 में ख़रीदा। 
एक सेब और एक केिे की कीमत के ब़ीच का अींतर खया है?  

A)  ₹ 5  

B)  ₹ 10  

C)  ₹15  

D)  ₹ 20  
 

 
 

41) Which of the following statements can be used to answer the given question?  
 
Question : What is the radius of the circle P?  

A)  The diameter of the circle P is twice the radius of the circle P  

B)  The diameter of the circle P is the longest chord of the circle P  

C)  Its area is 12 cm2 less than that of a square with side length equal to its diameter  

D)  Problem cannot be solved using the information given in any of the options  
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41) टदए गए प्रचि का उत्तर देिे के लिए निम्िलिखित में से ककस कर्ि का उपयोग ककया जा सकता है? 

 

प्रचि: िरत्त P की  त्रिज्या खया है?  

A)  िरत्त P का व्यास िरत्त  P के त्रिज्या से दोगुिा है  

B)  िरत्त  P का व्यास िरत्त P की सबसे िींब़ी ज़ीिा है  

C)  इसका क्षेिफि 12 cm2 कम है उस िगथ से क्जसकी परष्ठ िींबाई उसके व्यास के बराबर है   

D)  उपरोखत ककस़ी भ़ी विकल्प में दी गई जािकारी का उपयोग करके समस्या हि िहीीं की जा सकत़ी है  
 

 
 

42) Which of the images amongst 1, 2, 3 and 4 is the CORRECT water image of the figure X? 
   

 

 

A)  Image 1  

B)  Image 2  

C)  Image 3  

D)  Image 4  
 

 
 

42) निम्ि धचि X के लिए टदये गये 1, 2, 3 और 4 प्रनतत्रबम्बों में से कौि सा सही जि प्रनतत्रबम्ब है? 

   

 

 

A)  प्रनतत्रबम्ब 1  

B)  प्रनतत्रबम्ब 2  

C)  प्रनतत्रबम्ब 3  

D)  प्रनतत्रबम्ब 4  
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43) Which of the following options does NOT have the same property as the elements of the given 
set? 
 
(BX, HR, DV, FT)  

A)  EU  

B)  CW  

C)  MN  

D)  GS  
 

 
 

43) निम्िलिखित में से ककस विकल्प में टदए गए सेि के तत्िों के समाि गुर् िहीीं है? 

 
(BX, HR, DV, FT)  

A)  EU  

B)  CW  

C)  MN  

D)  GS  
 

 
 

44) Which of these options can be judged from one of the remaining three options?  

A)  Sum of P and Q is more than 100  

B)  At least one among P and Q is greater than 50  

C)  At most one among P and Q is greater than 40  

D)  At most one among P and Q is lesser than 70  
 

 
 

44) इिमें से कौि सा विकल्प शरे् त़ीि विकल्पों में से एक से आींका जा सकता है?  

A)  P और Q का योग 100 से अधधक है  

B)  P और Q में से कम से कम एक 50 से अधधक है  

C)   P और Q में से एक ज्यादा से ज्यादा 40 से अधधक है  

D)   P और Q में से एक ज्यादा से ज्यादा 70 से कम है  
 

 
 

45) Which of the following questions can be answered by using the given statements? 
 
Statements: 
   
A) Mark and Steve have a total of 109 marbles. 
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B) The number of marbles with Steve is a two digit prime number. 
  

 

A)  What will be the remainder left when number of marbles with Mark is divided by 2?  

B)  What will be the remainder left when number of marbles with Mark is divided by 3?  

C)  What will be the remainder left when number of marbles with Steve is divided by 3?  

D)  What will be the remainder left when number of marbles with Steve is divided by 4?  
 

 
 

45) टदए गए कर्िों का उपयोग करके निम्िलिखित में से ककस प्रचि का उत्तर टदया जा सकता है? 

 

कर्ि : 

 

A) माकथ  और स्िीि के पास कुि 109 कीं च ेहैं।  
B) स्िीि के पास के कीं चों की सींख्या दो अींकों की अभाज्य सींख्या है  

 
 
  

 

A)  माकथ  के पास के कीं चों की सींख्या को 2 से विभाक्जत करिे पर प्राप्त शरे्फि खया होगा?  

B)  माकथ  के पास के कीं चों की सींख्या को 3 से विभाक्जत करिे पर प्राप्त शरे्फि खया होगा?  

C)  स्िीि के पास के कीं चों की सींख्या को 3 से विभाक्जत करिे पर प्राप्त शरे्फि खया होगा?  

D)  स्िीि के पास के कीं चों की सींख्या को 4 से विभाक्जत करिे पर प्राप्त शरे्फि खया होगा?  
 

 
 

46) Out of the scores of four students A, B, C and D, the score of A is twice of that of B, the score 
of B is one-third of that of C while the score of C is 5 times of that of D. If the average score of A, B, 
C and D is 24.75, then what is the highest score?  

A)  9  

B)  25  

C)  30  

D)  45  
 

 
 

46) चार छािों A, B, C और D, के स्कोर में से, A  का स्कोर B स ेदोगुिा है, B का स्कोर C  के एक नतहाई है जबकक 

C का स्कोर D का 5 गुिा है। । यटद A, B, C और D का औसत स्कोर 24.75 है, तो उच्चतम स्कोर खया है?  

A)  9  

B)  25  
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C)  30  

D)  45  
 

 
 

47) P is the brother of Q, Q is the brother of R, and S is the father of P. On the basis of these 
relations, which one of the following statements is definitely wrong?  

A)  Q is the brother of P  

B)  Q is the son of S  

C)  P is the son of R  

D)  R is the brother of P  
 

 
 

47) यटद P, Q का भाई है, Q, R का भाई है, S, P का वपता है। इि ररचतों के आधार पर, निम्िलिखित में से कौि-सा 
कर्ि निक्चचत रूप से गित है?  

A)  Q, P का भाई है  

B)  Q, S का बेिा है  

C)  P, R का बेिा है  

D)  R, P का भाई है  
 

 
 

48) Among the given quartets of numbers, identify the option in which numbers are similar to each 
other based on prime factors of the numbers?  

A)  2, 3, 8 and 64  

B)  21, 63, 78 and 77  

C)  27, 81, 243 and 729   

D)  12, 21, 68 and 81  
 

 
 

48) टदए गए सींख्याओीं के चतुष्िय में से, उस विकल्प की पहचाि करें, क्जसमें सींख्याएाँ एक-दसूरे के समरूप हैं?  

A)  2, 3, 8 और 64  

B)  21, 63, 78 और 77  

C)  27, 81, 243 और 729  

D)  12, 21, 68 और 81  
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49) In what way can the terms of the given set be divided into three sets such that the sum of 
the two terms in each set is equal? 
(967, 896, 1086, 1246, 807, 1157)  

A)  (967, 1086), (896, 1157) and (807, 1246)   

B)  (967, 1157), (896, 807) and (1086, 1246)   

C)  (967, 1157), (896, 1086) and (807, 1246)  

D)  (967, 1086), (807, 1157) and (896, 1246)   
 

 
 

49) ककस तरीके से टदए गए समुच्चय के पदों को त़ीि समुच्चयों में विभाक्जत ककया जा सकता है, ताकक दो समुच्चयों 
के पदों का योग समाि हो?  

(967, 896, 1086, 1246, 807, 1157)?  

A)  (967, 1086), (896, 1157) और (807, 1246)  

B)  (967, 1086), (896, 807) और (1157, 1246)  

C)  (896, 1086), (967, 1157) और (807, 1246)  

D)  (967, 1157), (896, 1086) और (807, 1246)  
 

 
 

50) Letters of English alphabet are arranged in the form of a triangle in a way that the first row has 
1st alphabet, 2nd row has next two alphabets and so on. Which alphabets are in the 6th row?  

A)  KLMNOP  

B)  PQRSTU  

C)  IJKLMN  

D)  UVWXYZ  
 

 
 

50) अींगे्रज़ी िर्थमािा के अक्षरों को एक त्रिभुज के रूप में इस तरह से व्यिक्स्र्त ककया जाता है कक पहिी पींक्खत में 
पहिा अक्षर है, दसूरी पींक्खत में अगिे दो अक्षर हैं और इस़ी तरह आगे भ़ी। छठी पींक्खत में कौि स ेअक्षर हैं?  

A)  KLMNOP  

B)  PQRSTU  

C)  IJKLMN  

D)  UVWXYZ  
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Section 2 - English Language 
 

 

No. of Questions: 50  

 
 

51) Identify the antonym for the word. 
 
BLUR  

A)  hit  

B)  sharpen  

C)  bounce  

D)  fit  
 

 
 

52) Choose the correct article to complete the sentence:  

She found ____ pen lying under the table. 
 

A)  a  

B)  an  

C)  the  

D)  zero  
 

 
 

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence, 
the number of that part is your answer. If there is no error, mark your answer as (D). 
 
(A) This books/ (B) are not (C) for sale. / (D) No Error.  

A)  A  

B)  B  

C)  C  

D)  D  
 

 
 

54) Complete the sentence with a correct phrase. If you want the manager's support you must 
_________the rules.  

A)  abide by  

B)  abide on  

C)  abide for  

D)  abide at  
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55) Fill in the blank with the correct pronoun:  
He likes you more than ______. 

 

A)  you  

B)  me  

C)  it  

D)  she  
 

 
 

56) Fill in the blank with the correct option:  
 
He refused to divulge any details _________ the plan. 

 

A)  off  

B)  with  

C)  about  

D)  by  
 

 
 

57) Select the right preposition for the blank:  
  

They found him to be the most suitable candidate ________ the post. 

 

A)  to  

B)  for  

C)  with  

D)  on  
 

 
 

58) Choose the correct option to complete the sentence:  
The spotlight faded _______ the houselights came up. 

 

A)  if  

B)  unless  

C)  and  

D)  lest  
 

 
 

59) Identify the Complex sentence.  

A)  His interest in the project declined after his wife died.  
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B)  There is a dearth of new homes in the region.  

C)  He can't decide whether to buy it.  

D)  She has always shown great dedication to the cause.  
 

 
 

60) Choose the word that is correctly spelt::  

A)  Envison  

B)  Envision  

C)  Envesion  

D)  Ennvision  
 

 
 

61) Identify the synonym for the word – anonymous  

A)  huge  

B)  carefree  

C)  eminent  

D)  unnamed  
 

 
 

62) Identify the synonym for the word – barbaric  

A)  smooth  

B)  drunk  

C)  hairy  

D)  brutal  
 

 
 

63) Fill in the blanks with the correct option:  
 
Priya ______ karate class every Saturday. 

 

A)  attended  

B)  attend  

C)  attends  

D)  attending  
 

 
 

64) Fill in the blanks with the correct form of verb:  
When I go to university, I ___________in the students' hostel. 

 

A)  am staying  
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B)  will be staying  

C)  will have stayed  

D)  was staying  
 

 
 

65) Choose the correct verb to complete the sentence:  

I could not meet him because he _______ out of station. 
 

A)  will go  

B)  will be going  

C)  has gone  

D)  is going  
 

 
 

66) Choose the correct verb to complete the sentence:  

I ________ at the moment. 
 

A)  am travelling  

B)  was travelling  

C)  will be travelling  

D)  travelled  
 

 
 

67) Identify the antonym for the word – oblivious  

A)  aware  

B)  preoccupied  

C)  evident  

D)  blind  
 

 
 

68) choose the correct article to complete the sentence:  
_______ light was so bright that I had to cover my eyes.  

A)  A  

B)  No Article required  

C)  The  

D)  An  
 

 
 

69) Identify the part of the sentence that has an error:  



Set Id : 61814_3 Technical Assistant (LAB) - Chemistry_BATCH3_18OCT2020 

Page32of85  

I couldn't able to ask my dad permission to watch a movie. 

 

A)  I couldn't able  

B)  to ask my dad  

C)  permission to  

D)  watch a movie.  
 

 
 

70) Choose the meaning of the italicized idiom used in the given sentence.  
The teacher said to the latecomer, "What's your excuse? I'm all ears." 

 

A)  going crazy  

B)  in a hurry  

C)  very angry  

D)  listening intently  
 

 
 

71) Choose the meaning of the italicized idiom used in the given sentence.  
My colleague told me that, if I accepted the new assignment, I would bite off more than I could 
chew  because I already had a lot of work to complete. 

 

A)  have to work hard  

B)  impress my boss  

C)  take on more than I can handle  

D)  eat greedily  
 

 
 

72) Fill in the blanks with correct option:  
He brings chocolates whenever______ visits us and takes ________ pet wherever he goes. 

 

A)  she/her  

B)  his/he  

C)  her/she  

D)  he/his  
 

 
 

73) Fill in the blanks with correct option:  
We gave them ____________ opinion and they gave us ___________ opinion. 

 

A)  Our's/Theirs  

B)  Ours/Their's  
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C)  Our/ Their  

D)  Our/Their's  
 

 
 

74) Choose the correct option to complete the sentence:  
All telephone reservations must be confirmed ________ writing. 

 

A)  by  

B)  in  

C)  on  

D)  to  
 

 
 

75) Choose the correct option to complete the sentence:  
The load was lifted _________ a crane. 

 

A)  by means of  

B)  through  

C)  in case of  

D)  upon  
 

 
 

76) Choose the correct option to complete the sentence:  
Women played a relatively _________ role in the organisation. 

 

A)  major  

B)  best  

C)  biggest  

D)  miniature  
 

 
 

77) Identify the Compound sentence.  

A)  The engine drives the wheels.  

B)  We sat down and started the exam under the strict supervision of the teacher.  

C)  She was always the driving force behind the scheme.  

D)  They are just empty promises.  
 

 
 

78) Given below are 4 words. Identify the one that has been misspelt.  

A)  Delicious  
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B)  Sluggish  

C)  Acceptible  

D)  Passivity  
 

 
 

79) Given below are 4 words. Identify the one that has been misspelt.  

A)  Abbess  

B)  Abetment  

C)  Ablation  

D)  Acoutics  
 

 
 

80) Identify the synonym for the word – parsimonious  

A)  fatherly  

B)  friendly  

C)  miserly  

D)  kindly  
 

 
 

81) Identify the synonym for the word – ruthless  

A)  callous  

B)  porous  

C)  viscous  

D)  ponderous  
 

 
 

82) Fill in the blanks with the correct form of verb:  
 
Breakfast cereals______ with vitamins.  

A)  are enriched  

B)  enrich  

C)  is enriching  

D)  has been enriched  
 

 
 

83) Fill in the blanks with the correct form of verb:  
His dog generally_______ everywhere with him. 

 

A)  go  
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B)  goes  

C)  have gone  

D)  shall go  
 

 
 

84) Select the right verb for the blank:  
  

The court _________ the grandmother, as the guardian of the orphan child. 

 

A)  appoints  

B)  appointing  

C)  appointed  

D)  appoint  
 

 
 

85) Choose the antonym of the underlined word.  
The clergyman wrote an elegy in the country churchyard. 

 

A)  Layman  

B)  Ecclesiastic  

C)  Parson  

D)  Pastor  
 

 
 

86) Choose the correct article to complete the sentence:  

Hari, _____ goalkeeper, saved the match. 
 

A)  a  

B)  an  

C)  the  

D)  No article required  
 

 
 

87) choose the correct article to complete the sentence:  
You should appear calm in _______ interview even if you’re terrified.  

A)  an  

B)  No Article required  

C)  a  

D)  the  
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88) Identify the part of the sentence that has an error:  
Yesterday, while I was outside, my friend has come to my house. 

 

A)  Yesterday,  

B)  while I was outside  

C)  my friend has come  

D)  to my house.  
 

 
 

89) Choose the meaning of the italicized idiom used in the given sentence.  
The young lady bumped into the little boy so hard that he fell and, then, added insult to injury by 
demanding that he should apologize to her. 

 

A)  made a bad situation worse  

B)  scolded him  

C)  teased him  

D)  injured him  
 

 
 

90) Choose the Pronoun in the given sentence:  
The children were arguing among themselves. 

 

A)  themselves  

B)  among  

C)  were  

D)  children  
 

 
 

91) Fill in the blanks with correct option:  
It looks as if it is going to rain, so I can't dispense ________ my umbrella. 

 

A)  with  

B)  for  

C)  from  

D)  of  
 

 
 

92) Fill in the blank with correct option:  
 
The crisis will soon blow __________. 
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A)  in  

B)  on  

C)  over  

D)  of  
 

 
 

93) Choose the correct option to complete the sentence:  
There was a ________ of traffic as the road was impassable. 

 

A)  relocation  

B)  allocation  

C)  diversion  

D)  reversion  
 

 
 

94) Choose the correct option to complete the sentence:  
Vegetarians have an ________to meat. 

 

A)  enthusiasm  

B)  aversion  

C)  attraction  

D)  affection  
 

 
 

95) Identify the Simple sentence.  

A)  They nearly ate everything before we had arrived.  

B)  The bee turns nectar into honey.  

C)  Juliana had a lovely nature so everyone liked her.  

D)  She tries to be neat, but her husband is a slob.  
 

 
 

96) Choose the correctly spelt word’  

A)  Magnifisence  

B)  Magnifiscence  

C)  Magnifisense  

D)  Magnificence  
 

 
 

97) Identify the correct synonym:  



Set Id : 61814_3 Technical Assistant (LAB) - Chemistry_BATCH3_18OCT2020 

Page38of85  

Entangle 

 

A)  Punish  

B)  Fend  

C)  Bend  

D)  Ensnare  
 

 
 

98) Identify the correct synonym:  
 
Dither 

 

A)  Exaggerate  

B)  Agitation  

C)  Act  

D)  Calm  
 

 
 

99) Fill in the blanks with the correct option:  
I ___________ tell you, but I forgot. 

 

A)  am going to  

B)  will  

C)  was going to  

D)  will try to  
 

 
 

100) Select the right verb for the blank:  
 She carried flowers whenever she _________ the shrine. 

 

A)  visited  

B)  visit  

C)  visiting  

D)  visits  
 

 



Set Id : 61814_3 Technical Assistant (LAB) - Chemistry_BATCH3_18OCT2020 

Page39of85  

Section 3 - General Awareness 
 

 

No. of Questions: 50  

 
 

101) In which city was the 23rd edition of the Asian Athletics Championship conducted?  

A)  New Delhi  

B)  Doha  

C)  Dhaka  

D)  Sharjah  
 

 
 

101) एलशयाई एर्िेटिखस चकै्म्पयिलशप का 23िाीं सींस्करर् ककस शहर में आयोक्जत ककया गया र्ा?  

A)  िई टदल्िी  
B)  दोहा  
C)  ढाका  
D)  शारजाह  

 

 
 

102) Which chemical is used as a preservative in acidic foods such as pickles, carbonated drinks?  

A)  Sodium nitrite  

B)  Sodium propionate  

C)  Sulfur dioxide  

D)  Sodium benzoate  
 

 
 

102) अम्िीय िाद्य पदार्थ जैस ेकक अचार, काबोिेिेड पेय में परररक्षक के रूप में ककस रसायनिक पदार्थ का उपयोग 

ककया जाता है?  

A)  सोडडयम िाइट्राइि  

B)  सोडडयम प्रोवपयोिेि  

C)  सल्फर डाइऑखसाइड  

D)  सोडडयम बेंजोएि  
 

 
 

103) Which one of the following materials is an insulator?  
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A)  Silver  

B)  Diamond  

C)  Mercury  

D)  Iron  
 

 
 

103) निम्िलिखित में से कौि स़ी सामग्ऱी विद्युतरोध़ी है?  

A)  चाींदी  
B)  हीरा  
C)  पारा  
D)  िोह  

 

 
 

104) ‘Prohibition of traffic in human beings and forced labour’ has been added in which category of 
fundamental rights of our Indian Constitution?  

A)  Right against exploitation  

B)  Right to freedom  

C)  Cultural and educational rights  

D)  Right to equality  
 

 
 

104) हमारे भारत़ीय सींविधाि के मौलिक अधधकारों में ‘मािि तस्करी और जबरि मजदरूी पर प्रनतबींध’ को ककस 

शे्ऱ्ी में जोडा गया है?  

A)  शोर्र् के विरुद्ध अधधकार  
B)  स्ितींिता का अधधकार  
C)  सींस्कर नत और लशक्षा सींबींध़ी अधधकार  
D)  समता का अधधकार  

 

 
 

105) Where is the Velankanni Church situated?  

A)  Goa  

B)  Tamil Nadu  

C)  Maharashtra  

D)  Karnataka  
 

 



Set Id : 61814_3 Technical Assistant (LAB) - Chemistry_BATCH3_18OCT2020 

Page41of85  

 

105) िेिाींकधि़ी चचथ कहााँ क्स्र्त है?  

A)  गोिा  
B)  तलमििाडु  

C)  महाराष्ट्र  

D)  किाथिक  
 

 
 

106) The English meaning of the Sanskrit word 'Himalayas', which is the home to the world's 
highest mountain peak, Mt. Everest is  

A)  Roof of the World  

B)  Abode of Snow  

C)  Rocky Iceberg  

D)  Abode of Clouds  
 

 
 

106) सींस्कर त शब्द 'टहमािय', जो दनुिया की सबसे ऊीं च़ी पिथत चोिी, माउींि एिरेस्ि का घर है, का अींगे्रज़ी अर्थ खया 
है? 

   

A)  रूफ ऑफ द िल्डथ  
B)  अबोड ऑफ स्िो  
C)  रॉकी आइसबगथ  
D)  अबोड ऑफ खिाउड्स  

 

 
 

107) The Siliguri Corridor, a narrow stretch of land connecting mainland India with the north 
eastern states of India is popularly known as  

A)  Transit route  

B)  Multimode route  

C)  Chicken's Neck  

D)  Peacock's Neck  
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107) लसिीगुड़ी कॉररडोर, भूलम का एक सींकीर्थ क्षेि जो भारत की मुख्य भूलम को भारत के उत्तर पूिी राज्यों के सार् 

जोडता है। यह ककस िाम से िोकवप्रय है?  

A)  ट्राींक्जि रूि  

B)  मल्िीमोड रूि  

C)  धचकधस िेक  

D)  प़ीकॉखस िेक  
 

 
 

108) Among the given the options, identify the incident that took place in the year 1919.  

A)  Chauri-Chaura Incident  

B)  Jallianwala Bagh Massacre  

C)  First War of Indian Independence  

D)  Non-Cooperation Movement  
 

 
 

108) टदए गए विकल्पों में से, िर्थ 1919 में घिी घििा की पहचाि करें।  

A)  चौरी-चौरा घििा  
B)  जालियााँिािा बाग िरसींहार  
C)  प्रर्म भारत़ीय स्ितींिता सींग्राम  

D)  असहयोग आींदोिि  
 

 
 

109) Who among the following led the peasant movement in Awadh demanding the abolition of 
'Begar', and social boycott of oppressive landlords during the British rule in India?  

A)  Surendra Sai  

B)  Chittur Singh  

C)  Baba Ramchandra  

D)  Madhukar Shah  
 

 
 

109) निम्िलिखित में से ककसिे अिध में ककसाि आींदोिि का िेतरत्ि ककया, क्जसमें भारत में अींगे्रज़ी शासि के 

दौराि 'बेगार' को ित्म करिे और दमिकारी जम़ीींदारों के सामाक्जक बटहष्कार की माींग की गई ऱ्ी?  

A)  सुरेंद्र साई  
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B)  धचत्तरु लसींह  

C)  बाबा रामचींद्र  

D)  मधकुर शाह  
 

 
 

110) As per Article 55(3) of the Constitution of India, the President of India is elected through which 
of the following processes?  

A)  Territorial representation  

B)  Functional representation  

C)  Proportional representation  

D)  Minority representation  
 

 
 

110) भारत़ीय सींविधाि के अिुच्छेद 55 (3) के अिुसार, भारत के राष्ट्रपनत निम्िलिखित प्रकियाओीं में से ककसके 

द्िारा चिुे जाते हैं?  

A)  प्रादेलशक प्रनतनिधधत्ि  

B)  कायाथत्मक प्रनतनिधधत्ि  

C)  आिुपानतक प्रनतनिधधत्ि  

D)  अल्पसींख्यक प्रनतनिधधत्ि  
 

 
 

111) The Indian government's chief legal advisor and primary law officer is  

A)  The Solicitor General of India   

B)  The Chief Justice of India  

C)  The Secretary, Ministry of Law   

D)  The Attorney General of India  
 

 
 

111) भारत सरकार के मुख्य कािूि़ी सिाहकार और प्रधाि कािूि अधधकारी कौि हैं?  

A)   भारत के सॉलिलसिर जिरि  

B)  भारत के मुख्य धयायाध़ीश  

C)  सधचि, कािूि मींिािय  

D)  भारत के अिॉिी जिरि  
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112) What is Aditya - L1?  

A)  New hybrid car developed by Honda Motors, India  

B)  Battery operated helicopter developed by DRDO  

C)  First mission of ISRO to study the Sun  

D)  Industrial robot developed by BARC  
 

 
 

112) आटदत्य L1 खया है?  

A)  होंडा मोिसथ, भारत द्िारा विकलसत िई हाइत्रिड कार  
B)  DRDO द्िारा विकलसत बैिरी सींचालित हेिीकॉप्िर  
C)  सूयथ का अध्ययि करिे के लिए ISRO का पहिा लमशि  

D)  BARC द्िारा विकलसत औद्योधगक रोबोि  
 

 
 

113) The first edition of Khelo India School Games (KISG) inaugurated by Prime 
Minister Narendra Modi was held in which of the following cities?  

A)  New Delhi  

B)  Pune  

C)  Vizag  

D)  Chennai   
 

 
 

113) प्रधािमींि़ी िरेंद्र मोदी द्िारा उद्घाटित िेिो इींडडया स्कूि गेम्स (KISG) का पहिा सींस्करर् निम्िलिखित में 
से ककस शहर में आयोक्जत ककया गया र्ा?  

A)  िई टदल्िी  
B)  पुरे्  

C)  िैज़ाग  

D)  चधेिई  
 

 
 

114) Which Cricket team clinched Ranji Trophy title 2018-19?  

A)  Mumbai  

B)  Rajasthan  

C)  Vidarbha  
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D)  Jharkhand  
 

 
 

114) ककस किकेि िीम िे रर्ज़ी ट्रॉफी 2018-19 का खिताब ज़ीता?  

A)  मुींबई  

B)  राजस्र्ाि  

C)  विदभथ  
D)  झारिींड  

 

 
 

115) The world's first 5G phone was released in which of the following countries in April 2019?  

A)  Denmark  

B)  Singapore  

C)  United States America  

D)  South Korea  
 

 
 

115) दनुिया का पहिा 5G फोि अप्रैि 2019 में निम्ि में से ककस देश में जारी ककया गया र्ा?  

A)  डिेमाकथ   
B)  लसींगापुर  
C)  सींयुखत राज्य अमेररका  
D)  दक्षक्षर् कोररया  

 

 
 

116) In March 2019, who among the following was appointed as the Chairman of Life Insurance 
Corporation of India(LIC)?  

A)  T C Suseel Kumar  

B)  M R Kumar  

C)  Varsha Sharma  

D)  Raj Kumar  
 

 
 

116) माचथ 2019 में, भारत़ीय ज़ीिि ब़ीमा निगम (LIC) के अध्यक्ष के रूप में निम्िलिखित में स ेककस ेनियुखत ककया 
गया?  
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A)  िी स़ी सुश़ीि कुमार  
B)  एम आर कुमार  
C)  िर्ाथ शमाथ  
D)  राज कुमार  

 

 
 

117) Invar, a nickel steel alloy is used in clocks due to which of the following characteristics?  

A)  Negative thermal coefficient  

B)  Positive thermal coefficient  

C)  Low coefficient of thermal expansion  

D)  High coefficient of thermal expansion  
 

 
 

117) इििर, एक निकि स्िीि लमश् धातु का उपयोग घडडयों में निम्िलिखित में से ककस विशरे्ता के कारर् ककया 
जाता है?  

A)  ऋर्ात्मक र्मथि गुर्ाींक  

B)  धिात्मक र्मथि गुर्ाींक  

C)  कम ताप़ीय विस्तार गुर्ाींक  

D)  उच्च ताप़ीय विस्तार गुर्ाींक  
 

 
 

118) Which one of the following waves/rays CANNOT pass through vacuum?  

A)  Sound waves  

B)  Gamma rays  

C)  Ultraviolet rays  

D)  Radio waves  
 

 
 

118) निम्िलिखित में से कौि स़ी तरींगें / ककरर्ें नििाथत (िैखयूम) स ेिहीीं गुजर सकत़ी हैं?  

A)  ध्िनि तरींग  

B)  गामा ककरर्  

C)  पराबैंगि़ी ककरर्  

D)  रेडडयो तरींग  
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119) The ideals of 'liberty, equality and fraternity' stated in the Preamble of the Indian Constitution 
have been taken from the  

A)  Russian Revolution  

B)  Irish Revolution  

C)  French Revolution  

D)  Spanish Revolution  
 

 
 

119) भारत़ीय सींविधाि की उद्देलशका में िखर्थत 'स्ितींिता, समािता और बींधतुा' के आदशों को ककस िाक्धत स ेलिया 
गया है?  

A)  रुस़ी िाींनत  

B)  आयररश िाींनत  

C)  फ्रें च िाींनत  

D)  स्पेि़ी िाींनत  
 

 
 

120) Who among the following appoints the Prime Minister of India?  

A)  President of India  

B)  Governor of state  

C)  Citizens of India  

D)  Chief Justice of India  
 

 
 

120) निम्िलिखित में से कौि भारत के प्रधाि मींि़ी की नियुक्खत करता है?  

A)  भारत के राष्ट्रपनत  

B)  राज्य का राज्यपाि  

C)  भारत के िागररक  

D)  भारत के मुख्य धयायाध़ीश  
 

 
 

121) Which of the following Articles of the Indian Constitution declares that no person shall be a 
member of both the houses of Parliament?  

A)  Artcle 100  
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B)  Article 101  

C)  Article 98  

D)  Article 99  
 

 
 

121) निम्िलिखित में से भारत़ीय सींविधाि का कौि सा अिुच्छेद घोवर्त करता है कक कोई भ़ी व्यक्खत सींसद के दोिों 
सदिों का सदस्य िहीीं होगा?  

A)  अिुच्छेद 100  

B)  अिुच्छेद 101  

C)  अिुच्छेद 98  

D)  अिुच्छेद 99  
 

 
 

122) Onam, the biggest Hindu festival during which snake boat races are conducted, is celebrated 
in which state of India?  

A)  Karnataka  

B)  Kerala  

C)  Assam  

D)  Tamil Nadu  
 

 
 

122) ओर्म, सबस ेबडा टहींद ूत्यौहार, क्जसके दौराि साींप िौका दौड आयोक्जत की जात़ी है, भारत के ककस राज्य में 
मिाया जाता है?  

A)  किाथिक  

B)  केरि  

C)  असम  

D)  तलमििाडु  
 

 
 

123) In which of the following regions in India is the Ramman festival celebrated?  

A)  Malwa region  

B)  Bundelkhand region  

C)  Garhwal region  

D)  Marwar region  
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123) भारत में निम्िलिखित में से ककस क्षेि में रम्मार् उत्सि मिाया जाता है?  

A)  माििा क्षेि  

B)  बुींदेििींड क्षेि  

C)  गढिाि क्षेि  

D)  मारिाड क्षेि  
 

 
 

124) Which of the following communities celebrates the Hemis festival in honour of Guru 
Padmasambhava's birth anniversary?  

A)  Buddhist  

B)  Jain  

C)  Sikh  

D)  Parsi  
 

 
 

124) निम्िलिखित में से कौि सा समुदाय गुरु पद्मसींभि की जयींत़ी के सम्माि में हेलमस त्योहार मिाता है?  

A)  बौद्धधमी  
B)  जैिधमी  
C)  लसि  

D)  पारस़ी  
 

 
 

125) Cardamom Hills are located in which of the following mountain ranges in India?  

A)  Vindhya Range  

B)  Western Ghats  

C)  Eastern Ghats  

D)  Aravalli Range  
 

 
 

125) भारत में इिायच़ी पहाडडयााँ निम्िलिखित में स ेककस पिथत श्रींििा में क्स्र्त है?  

A)  विींध्या पिथत श्रींििा  
B)  पक्चचम़ी घाि  
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C)  पूिी घाि  

D)  अराििी पिथत श्रींििा  
 

 
 

126) Sir Creek forms the boundary between which of the following two regions of India and 
Pakistan?  

A)  It separates Gujarat state of India from Sindh Province of Pakistan  

B)  It separates Punjab state of India from Punjab Province of Pakistan  

C)  It separates Odisha state of India from Sindh Province of Pakistan  

D)  It separates Rajasthan state of India from Punjab Province of Pakistan  
 

 
 

126) लसर िीक भारत और पाककस्ताि के निम्िलिखित कौि से दो क्षेिों के ब़ीच स़ीमारेिा बिाता है?  

A)  यह भारत के गुजरात राज्य को पाककस्ताि के लसींध प्राींत से अिग करता है  

B)  यह भारत के पींजाब राज्य को पाककस्ताि के पींजाब प्राींत से अिग करता है  

C)  यह भारत के ओडडशा राज्य को पाककस्ताि के लसींध प्राींत से अिग करता है  

D)  यह भारत के राजस्र्ाि राज्य को पाककस्ताि के पींजाब प्राींत से अिग करता है  
 

 
 

127) In support of the Khilafat movement, the Non-Cooperation movement in India was started by 
which of the following Nationalist leaders?  

A)  Subhash Chandra Bose  

B)  Bal Gangadhar Tilak  

C)  Mahatma Gandhi  

D)  Raja Ram Mohan Roy  
 

 
 

127) निम्िलिखित राष्ट्रिादी िेताओीं में से ककसके द्िारा खििाफत आींदोिि के समर्थि में भारत में असहयोग 

आींदोिि शुरू ककया गया र्ा?  

A)  सुभार् चधद्र बोस  

B)  बाि गींगाधर नतिक  

C)  महात्मा गााँध़ी  
D)  राजा राम मोहि रॉय  
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128) In which year was the Rowlatt Act passed that was officially known as 'Anarchical and 
Revolutionary Crimes Act'?  

A)  1917  

B)  1919  

C)  1918  

D)  1920  
 

 
 

128) रोिेि एखि ककस िर्थ में पाररत ककया गया र्ा, क्जस ेआधधकाररक तौर पर 'अराजक और िाींनतकारी अपराध 

अधधनियम' के िाम से जािा जाता र्ा?  

A)  1917  

B)  1919  

C)  1918  

D)  1920  
 

 
 

129) Supreme Court of India has formulated a set of guidelines to be followed for entertaining 
letters or petitions recieved by it as PIL(Public Interest Litigation). Which of the following options 
falls under the given set of guidelines?  

A)  Petitions related to landlord-tenant issues  

B)  Petitions against police for refusing to register a case  

C)  Issues related to admission into medical and other educational institutions  

D)  Service matter and those pertaining to pension and gratuity  
 

 
 

129) भारत के सिोच्च धयायािय िे PIL(जिटहत याधचका) के रूप में प्राप्त पिों या याधचकाओीं के विचार के लिए 

टदशानिदेशों का एक सेि प्रनतपाटदत ककया है। निम्िलिखित में स ेकौि सा विकल्प इि टदशानिदेशों के सेि के अींतगथत 

आता है?  

A)  मकाि मालिक-ककरायेदार मुद्दों से सींबींधधत याधचकाएीं  
B)  मामिा दजथ करिे से इिकार करिे पर पुलिस के खििाफ याधचका  
C)  धचककत्सा और अधय शैक्षखर्क सींस्र्ािों में प्रिेश से सींबींधधत मुद्दे  

D)  िौकरी सींबींध़ी और पेंशि और गे्रच्युिी से सींबींधधत मामिे  
 

 
 

130) As per Article 53 of the Constitution of India the executive power of the Union is vested in the  

A)  Chief Justice of Supreme Court  
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B)  Prime Minister  

C)  President  

D)  Speaker of Lok Sabha  
 

 
 

130) भारत के सींविधाि के अिुच्छेद 53 के अिुसार सींघ की कायथपालिका शक्खत  

A)  उच्चतम धयायािय के मुख्य धयायाध़ीश में निटहत है  

B)  प्रधाि मींि़ी में निटहत है  

C)  राष्ट्रपनत में निटहत है  

D)  िोक सभा के अध्यक्ष में निटहत है  
 

 
 

131) Which of the following dates is celebrated as the National Technology Day in India to 
commemorate Operation Shakti?  

A)  29th August  

B)  5th June  

C)  23rd June  

D)  11th May  
 

 
 

131) ऑपरेशि शक्खत का अलभिींदि करिे के लिए निम्िलिखित में स ेकौि स़ी तारीि राष्ट्रीय प्रौद्योधगकी टदिस के 

रूप में मिाई जात़ी है?  

A)  29 अगस्त  

B)  5 जूि  

C)  23 जूि  

D)  11 मई  
 

 
 

132) World's lightest satellite weighing only 64 gms named as 'KalamSat' was launched by which 
of the following space organizations?  

A)  Indian Satellite Research Organization  

B)  National Aeronautics Space Agency  

C)  European Space Agency  

D)  Russian Federal Space Agency  
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132) निम्िलिखित में से ककस अींतररक्ष सींगठि द्िारा 'किामसाि' िामक विचि के सबस ेहल्के उपग्रह को प्रक्षेवपत 

ककया गया र्ा क्जसका िज़ि केिि 64 ग्राम है?  

A)  भारत़ीय अींतररक्ष अिुसींधाि सींगठि  

B)  िैशिि एरोिॉटिखस स्पेस एजेंस़ी  
C)  यूरोप़ीय अींतररक्ष एजेंस़ी  
D)  रक्स्सयि फेडरि स्पेस एजेंस़ी  

 

 
 

133) Udio, India's first social mobile wallet was launched by which of the following digital payment 
start-up companies?  

A)  MobiKwik  

B)  TranServ  

C)  Oxigen  

D)  State Bank Buddy  
 

 
 

133) निम्िलिखित में से ककस डडक्जिि भुगताि पेमेंि स्िािथ अप कीं पि़ी द्िारा भारत की पहिी सामाक्जक मोबाइि 

िॉिेि, Udio को शुरू ककया गया र्ा?  

A)  मोत्रबक्खिक  

B)  ट्राींसिथ  
C)  ऑखस़ीजेि  

D)  स्िेि बैंक बड़ी  
 

 
 

134) The highest Life Time Achievement Award in Sports and Games instituted in 2002 by the 
Government of India is  

A)  Rajiv Gandhi Khel Ratna Award  

B)  Dronacharya Award  

C)  Dhyan Chand Award  

D)  Arjuna Award  
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134) भारत सरकार द्िारा 2002 में स्र्ावपत िेि और िीडा के क्षेि में सिोच्च िाइफ िाइम अच़ीिमेंि अिाडथ 
(ज़ीििगौरि पुरस्कार) कौि सा है?  

A)  राज़ीि गाींध़ी िेि रत्ि पुरस्कार  
B)  द्रोर्ाचायथ पुरस्कार  
C)  ध्यािचींद पुरस्कार  
D)  अजुथि पुरस्कार  

 

 
 

135) Which cricketer is named the Goodwill Ambassador for Street Child Cricket World Cup 2019?  

A)  Mithali Raj  

B)  Harmanpreet Kaur  

C)  Mahendra Singh Dhoni  

D)  Virat Kohli  
 

 
 

135) स्ट्रीि चाइल्ड किकेि विचि कप 2019 के लिए ककस किकेिर को गुडविि एम्बेसडर िालमत ककया गया है?  

A)  लमतािी राज  

B)  हरमिप्ऱीत कौर  
C)  महेधद्र लसींह धोि़ी  
D)  विराि कोहिी  

 

 
 

136) How many constituencies voted in the first phase of the Lok Sabha Elections 2019?  

A)  71  

B)  81  

C)  91  

D)  99  
 

 
 

136) िोकसभा चिुाि 2019 के पहिे चरर् में ककतिे नििाथचि क्षेिों में मतदाि हुआ?  

A)  71  

B)  81  

C)  91  

D)  99  
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137) Which of the following states did not go to the polls in Phase 1 of the Lok Sabha Elections 
2019?  

A)  Andhra Pradesh  

B)  Assam  

C)  Bihar  

D)  Tamil Nadu  
 

 
 

137) निम्िलिखित में से कौि सा राज्य, िोक सभा चिुाि 2019 के पहिे चरर् में िहीीं र्ा?  

A)  आींध्र प्रदेश  

B)  असम  

C)  त्रबहार  
D)  तलमििाडु  

 

 
 

138) Where in the human body is the urea formed?  

A)  Liver  

B)  Kidney  

C)  Stomach  

D)  Spleen  
 

 
 

138) मािि शरीर में यूररया कहाीं बिता है?  

A)  यकर त  

B)  गुदाथ  
C)  अमाशय  

D)  प्िीहा  
 

 
 

139) Woollen sweaters keep us warm during winters. Identify the CORRECT reason which 
supports this statement.  

A)  The trapped air in the woollen sweaters is a good conductor of heat  

B)  The trapped air in the woollen sweaters is a bad conductor of heat  
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C)  The wollen sweaters reflect the heat away and keep the body cool  

D)  The wollen sweaters allow air to circulate below the fabric  
 

 
 

139) ऊि़ी स्िेिर हमें सटदथयों के दौराि गमथ रिते हैं। इस कर्ि का समर्थि करिे िािे सही कारर् को पहचािें।  

A)  ऊि़ी स्िेिर में फीं स़ी हिा, ताप की अच्छी सींिाहक होत़ी है  

B)  ऊि़ी स्िेिर में फीं स़ी हिा, ताप की अच्छी सींिाहक िहीीं होत़ी है  

C)  ऊि़ी स्िेिर ताप को परािनतथत करते हैं और शरीर को ठींडा रिते हैं  
D)  ऊि़ी स्िेिर, हिा को कपड ेके भ़ीतर सींचाररत करिे देते हैं  

 

 
 

140) The total number of Fundamental Rights in Indian Constitution after the enactment of the 44th 
Constitutional Amendment,1978 is:  

A)  6  

B)  5  

C)  4  

D)  7  
 

 
 

140) 44िें सींिैधानिक सींशोधि, 1978 के अधधनियमि के बाद भारत़ीय सींविधाि में मौलिक अधधकारों की कुि 

सींख्या ककति़ी है?  

A)  6  

B)  5  

C)  4  

D)  7  
 

 
 

141) Ugadi is celebrated as New Year's Day by the people of which of the following states?  

A)  Karnataka  

B)  Assam  

C)  Madhya Pradesh  

D)  Himachal Pradesh  
 

 
 

141) निम्िलिखित में से कौि से राज्य के िोगों द्िारा उगादी को िए साि के टदि के रूप में मिाया जाता है?  



Set Id : 61814_3 Technical Assistant (LAB) - Chemistry_BATCH3_18OCT2020 

Page57of85  

A)  किाथिक  

B)  असम  

C)  मध्य प्रदेश  

D)  टहमाचि प्रदेश  
 

 
 

142) The rock-cut temples of Mahabalipuram were built under the patronage of the  

A)  Pallava kings  

B)  Chola kings  

C)  Chera kings  

D)  Pandyan kings  
 

 
 

142) पत्र्रों को काि कर बिाए गए महाबलिपुरम के मींटदर का निमाथर् ककि राजाओीं के सींरक्षर् में हुआ र्ा?  

A)  पल्िि राजा  
B)  चोिा राजा  
C)  चरेा राजा  
D)  पाींड्याि राजा  

 

 
 

143) Which of the following ridges is located in the northern section of the Central Indian Ocean 
Ridge?  

A)  Nazca Ridge  

B)  Gorda Ridge  

C)  Carlsberg Ridge  

D)  Cocos Ridge  
 

 
 

143) निम्िलिखित में से कौि सा पिथत किक मध्य टहींद महासागर किक के उत्तरी भाग में क्स्र्त है?  

A)  िाज़का किक  

B)  गॉडाथ किक  

C)  काल्सथबगथ किक  

D)  कोकोस किक  
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144) Who among the following rulers marked the end of Maratha dominance in Punjab with the 
third battle of Panipat in 1761?  

A)  Akbar  

B)  Ahmad Shah Durrani  

C)  Ibrahim Lodi  

D)  Bairam Khan  
 

 
 

144) निम्िलिखित शासकों में से ककसिे 1761 में पाि़ीपत की त़ीसरी िडाई के सार् पींजाब में मराठा प्रभुत्ि के अींत 

को धचक्नित ककया?  

A)  अकबर  
B)  अहमद शाह दरुाथि़ी  
C)  इिाटहम िोदी  
D)  बैरम िाि  

 

 
 

145) Who among the following was defeated in the Battle of Plassey in 1757?  

A)  Siraj ud-Daulah  

B)  Lord Clive  

C)  Colonel Watson  

D)  Mir Jafar  
 

 
 

145) 1757 में प्िास़ी के यदु्ध में निम्िलिखित में से कौि पराक्जत हुआ र्ा?  

A)  लसराज उद-दौिा  
B)  िॉडथ खिाइि  

C)  किथि िॉिसि  

D)  म़ीर जाफर  
 

 
 

146) The Bharatiya Janata Party (BJP) is the successor party of which of the following parties, 
which merged itself into the Janata Party in 1977?  

A)  Bhartiya Shakti Sangh  

B)  Bhartiya Jana Sangh  
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C)  Bhartiya Hindu Sangh  

D)  Hindu Mahasabha  
 

 
 

146) भारत़ीय जिता पािी (BJP) निम्िलिखित में से ककस पािी की उत्तराधधकारी पािी है, जो 1977 में जिता पािी 
में वििय हो गई ऱ्ी?  

A)  भारत़ीय शक्खत सींघ  

B)  भारत़ीय जि सींघ  

C)  भारत़ीय टहींद ूसींघ  

D)  टहींद ूमहासभा  
 

 
 

147) What is the wireless technology developed at Indian Institute of Technology, Kharagpur for 
remote monitoring of condition of those patients who are ferried in ambulances?  

A)  AmbuSens  

B)  Live-Mont  

C)  Diagno-ext  

D)  RemoteAmbu  
 

 
 

147) भारत़ीय प्रौद्योधगकी सींस्र्ाि िडगपुर में विकलसत िायरिेस तकि़ीक का खया िाम है जो एम्बुिेंस में सफर 
करिे िािे मरीजों का दरूस्र् निरीक्षर् करेगा?  

A)  एींबुसेंस  

B)  िाइि-मॉधि  

C)  डाइग्िो-एखसि  

D)  ररमोिएम्बु  
 

 
 

148) ROSA is an experiment conducted by NASA to power satellites and spacecrafts. ROSA is an 
abbreviation for:  

A)  Research On Satellite Adamance  

B)  Roll-Out Solar Array  

C)  Research On Satellite Adaptability  

D)  Roll-Out Solar Adaptability  
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148) ROSA उपग्रहों और अींतररक्ष यािों को ऊजाथ देिे के लिए NASA द्िारा सींचालित एक प्रयोग है। ROSA 

ककसका सींक्षक्षप्त रूप है?  

A)  ररसचथ ऑि सैिेिाइि एडमैंस  

B)  रोि-आउि सोिर अरै  
C)  ररसचथ ऑि सैिेिाइि एडप्ित्रबलििी  
D)  रोि-आउि सोिर एडप्ित्रबलििी  

 

 
 

149) In Asian Games 2018, who won the gold medal in Men's Triple Jump Event?  

A)  Tejinder Pal Singh  

B)  Rohan Bopanna  

C)  Divij Sharan  

D)  Arpinder Singh  
 

 
 

149) 2018 एलशयाई िेिों में, पुरुर्ों की टट्रपि जींप इिेंि में स्िर्थ पदक ककसिे ज़ीता?  

A)  तेक्जींदर पाि लसींह  

B)  रोहि बोपधिा  
C)  टदविज शरर्  

D)  अरवपींदर लसींह  
 

 
 

150) Which of the following awards is given mainly to the overall top winners in the Inter-University 
tournaments?  

A)  Maharaja Ranjit Singh Award  

B)  Maulana Abul Kalam Azad Award  

C)  Vijay Hazare Award  

D)  Santosh Trophy  
 

 
 

150) निम्िलिखित में से कौि सा पुरस्कार मुख्य रूप स ेअींतर-विचिविद्यािय िूिाथमेंि में कुि श़ीर्थ विजेताओीं को 
टदया जाता है?  

A)  महाराजा रर्ज़ीत लसींह पुरस्कार  
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B)  मौिािा अबुि किाम आज़ाद पुरस्कार  
C)  विजय हजारे अिाडथ  
D)  सींतोर् ट्रॉफी  
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Section 4 - Knowledge of Chemistry 
 

 

No. of Questions: 50  

 
 

151) Which of the following will be formed when phenol is brominated in aqueous medium?  

A)  2,4-dibromophenol  

B)  2-bromophenol  

C)  2,4,6-tribromophenol  

D)  4,6-dibromophenol  
 

 
 

151) जब कफिॉि को जिीय माध्यम में िोरेमोनित ककया जाता है, तब निम्ि में से कौि सा बिता है?  

A)  2,4-डाइिोमोकफिॉि   

B)  2-िोमोकफिॉि  

C)  2,4,6-ट्राइिोमोकफिॉि  

D)  4,6-डाइिोमोकफिॉि  
 

 
 

152) The product C in the reaction PhCΞCH + PhLi → C, (Ph = Phenyl) is  

A)  PhCΞCHLi + PhH  

B)  PhCΞCLi + PhH  

C)  PhHCΞCHLi + PhH  

D)  PhCHΞCLi + PhH  
 

 
 

152) अलभकिया PhCΞCH + PhLi → C, (Ph = कफिाइि) में उत्पाद C है  

A)  PhCΞCHLi + PhH  

B)  PhCΞCLi + PhH  

C)  PhHCΞCHLi + PhH  

D)  PhCHΞCLi + PhH  
 

 
 

153) A catalytic process in which the catalyst and the reaction mixture are in different phases is 
known as  

A)  homogeneous catalysis  

B)  heterogeneous catalysis  
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C)  hypergeneous catalysis  

D)  hypogeneous catalysis  
 

 
 

153) िह उत्प्रेरकी प्रकिया खया कहिात़ी है, क्जसमें एक उत्प्रेरक और अलभकिया लमश्र् अिगअिग अिस्र्ा होते हैं?  

A)  समाींग़ी उत्प्रेरर्  

B)  विर्माींग़ी उत्प्रेरर्  

C)  हाइपरज़ीनियस उत्प्रेरर्   

D)  हाइपोज़ीनियस उत्प्रेरर्  
 

 
 

154) What is the effective atomic number of the central metal ion in the complex [Pt(NH3)4]2+?  

A)  84  

B)  86  

C)  82  

D)  85  
 

 
 

154) समक्ष्ि [Pt(NH3)4]2+ में कें द्रीय धातु आयि का प्रभाि़ी परमारु् सींख्या ककतिा है?  

A)  84  

B)  86  

C)  82  

D)  85  
 

 
 

155) What will be the molar conductance at infinite dilution (L0) for Al2(SO4)3 at 25oC? Given l0Al
3+ = 

65 and l0SO4
2- = 102 mho cm2 mole-1.  

  

 

A)  365 mho cm2 mole-1  

B)  436 mho cm2 mole-1  

C)  543 mho cm2 mole-1  

D)  268 mho cm2 mole-1  
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155) 25°C पर Al2(SO4)3 के लिए अिींत तिुता (L0) पर मोिर चािकत्ि ककतिा होगा? टदया गया l0Al
3+ = 65 और 

l0SO4
2- = 102 mho cm2 mole-1 है।  

A)  365 mho cm2 mole-1  

B)  436 mho cm2 mole-1  

C)  543 mho cm2 mole-1  

D)  268 mho cm2 mole-1  
 

 
 

156) What should be the ideal value of the critical coefficient for a Van der Waal's gas?  

A)  3.47  

B)  4.12  

C)  2.66  

D)  4.02  
 

 
 

156) िाि डर िाल्स गैस के लिए िाींनतक गुर्ाींक का आदशथ माि ककतिा होिा चाटहए?  

A)  3.47  

B)  4.12  

C)  2.66  

D)  4.02  
 

 
 

157) Why does KMnO4 show intense purple colour?  

A)  Due to metal to ligand charge transfer  

B)  Due to ligand to metal charge transfer  

C)  Due to d-d transition  

D)  Due to light absorption when exposed  
 

 
 

157) KMnO4 त़ीव्र बैंगि़ी रींग खयों टदिाता है?  

A)  धातु स ेलिगधड प्रभार अींतरर् के कारर्   

B)  लिगधड से धातु प्रभार अींतरर् के कारर्   

C)  d-d सींिमर् के कारर्   

D)  अिािरत होिे पर प्रकाश के अिशोर्र् के कारर्   
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158) Which of the following reactions of carbonyl compounds with Grignard reagent is CORRECT?  

A)  Acetaldehyde gives primary alcohol  

B)  Ketone gives secondary alcohol  

C)  Formaldehyde gives tertiary alcohol  

D)  Formaldehyde gives primary alcohol  
 

 
 

158) निम्िलिखित में से कौि स़ी धग्रगिाडथ अलभकमथक के सार् काबोनिि यौधगकों की अलभकिया सही है?  

A)  एस़ीिेल्ड़ीहाइड, प्रार्लमक अल्कोहॉि देता है  

B)  कीिोि, माध्यलमक अल्कोहॉि देता है  

C)  फॉमथिड़ीहाइड, तरत़ीयक अल्कोहॉि देता है  

D)  फॉमथिड़ीहाइड, प्रार्लमक अल्कोहॉि देता है  
 

 
 

159) The alcohol which on oxidation with K2Cr2O7/H2SO4 yields acetic acid is  

A)  methanol  

B)  ethanol  

C)  phenol  

D)  butanol  
 

 
 

159) िह ऐल्कोहॉि जो K2Cr2O7/H2SO4 के सार् ऑखस़ीकरर् पर एलसटिक अम्ि देता है िह  

A)  मेर्िॉि है  

B)  इर्ेिॉि है  

C)  कफिॉि है  

D)  ब्यूििॉि है  
 

 
 

160) What kind of polymer will form when styrene is treated with 1,4-divinylbenzene?  

A)  Cross-linked polymer  

B)  Branched polymer  

C)  Linear polymer  

D)  Diagonal polymer  
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160) जब स्िाइरीि की अलभकिया 1,4-डाइवििाइिबेंज़ीि से कराई जात़ी है, तब ककस प्रकार का बहुिक बिता है?  

A)  नतयथक् बद्ध बहुिक  

B)  शाखित बहुिक  

C)  रैखिक बहुिक  

D)  विकर्थ बहुिक  
 

 
 

161) Calculate the enthalpy of formation of HI from the data given. The bond dissociation energies 
of H2, I2 and HI are 104, 46 and 87 kcal/mole respectively.  

A)  ΔH= 24 kcal  

B)  ΔH= -63 kcal  

C)  ΔH= -24 kcal  

D)  ΔH= 63 kcal  
 

 
 

161) टदए गए आाँकड ेस ेHI के निमाथर् की ताप़ीय धाररता की गर्िा करें। H2, I2 और HI के बधध वियोजि ऊजाथ 
िमशः 104, 46 और 87 kcal/mole हैं।  

A)  ΔH= 24 kcal  

B)  ΔH= -63  kcal  

C)  ΔH= -24  kcal  

D)  ΔH= 63  kcal  
 

 
 

162) How many constitutional isomers are possible for the molecular formula C6H14?  

A)  5  

B)  4  

C)  6  

D)  7  
 

 
 

162) आर्विक सूि C6H14के लिए ककतिे सींरचिात्मक समाियि सींभि हैं?  

A)  5  

B)  4  

C)  6  

D)  7  
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163) Which behaviour of primary, secondary and tertiary alcohol is CORRECT when reacted with 
Cu at high temperature?  

A)  Tertiary alcohol gives ketone  

B)  Tertiary alcohol gives alkene  

C)  Primary alcohol gives alkene  

D)  Secondary alcohol gives aldehyde  
 

 
 

163) प्रार्लमक, माध्यलमक और तरत़ीयक अल्कोहॉि जब उच्च तापमाि पर Cu के सार् अलभकिया करते हैं, तब 

उिका कौि सा व्यिहार सही है?  

A)  तरत़ीयक अल्कोहॉि, कीिोि देता है  

B)  तरत़ीयक अल्कोहॉि, अल्कीि देता है  

C)  प्रार्लमक अल्कोहॉि, अल्कीि देता है  

D)  माध्यलमक अल्कोहॉि, अक्ल्डहाइड देता है  
 

 
 

164) Phenols are more acidic than monohydric alcohols because of  

A)  aromaticity  

B)  inductive effect  

C)  resonance  

D)  hyperconjugation  
 

 
 

164) ककसके कारर् मोिोहाइडड्रक अल्कोहॉि की तुििा में कफिोि अधधक अम्िीय हैं?  

A)  ऐरोमैटिकता  
B)  प्रेरखर्क प्रभाि  

C)  अिुिाद  

D)  अनतसींयुग्मि  
 

 
 

165) The CORRECT order of the increasing pKa values for the following alcohols is: 
   

A)  prop-2-en-1-ol < propan-1-ol < 1-phenylmethanol  

B)  propan-1-ol < 1-phenylmethanol < prop-2-en-1-ol  
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C)  prop-2-en-1-ol < 1-phenylmethanol < propan-1-ol  

D)  1-phenylmethanol < prop-2-en-1-ol < propan-1-ol  
 

 
 

165) निम्िलिखित अल्कोहि के लिए बढते pKaमाि का सही िम खया है?  

A)  प्रोप-2-एि-1-ऑि < प्रोपि-1-ऑि < 1- कफिाइिलमर्िॉि    

B)  प्रोपि-1-ऑि < 1-कफिाइिलमर्िॉि < प्रोप-2-एि-1-ऑि  

C)  प्रोप-2-एि-1-ऑि < 1-कफिाइिलमर्िॉि  < प्रोपि-1-ऑि  

D)  1-कफिाइिलमर्िॉि < प्रोप-2-एि-1-ऑि < प्रोपि-1-ऑि  
 

 
 

166) What will be the expected product when 2,4-dimethyl pent-3-one is treated with iso-propyl 
lithium followed by acid hydrolysis?  

A)  {(CH3)2CH}2CHOH  

B)  {(CH3)2CH}3COH  

C)  (CH3)2CHCH2OH  

D)  (CH3)2C(OH)CH2(CH3)2  
 

 
 

166) प्रत्यालशत उत्पाद खया होगा जब 2,4-डाइलमर्ाइि पेध्-3-िि की अलभकिया आइसो-प्रोपायि लिधर्यम से 
होत़ी है और उसके बाद अम्ि हाइड्रॉलिलसस से?  

A)  {(CH3)2CH}2CHOH  

B)  {(CH3)2CH}3COH  

C)  (CH3)2CHCH2OH  

D)  (CH3)2C(OH)CH2(CH3)2  
 

 
 

167) Which product will be formed when propanoic acid is reacted with excess MeLi followed by 
hydrolysis?  

A)  Butanal  

B)  Ethanal  

C)  Methyl propanoate  

D)  Butan-2-one  
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167)   प्रोपिॉइक अम्ि के अनतररखत MeLi के सार् अलभकिया करिे और उसके बाद  जि-अपघिि से, कौि सा 
उत्पाद बिता है?  

A)  ब्यूििि  

B)  इर्ेिॉि    

C)  लमर्ाइि प्रोपािोऐि   

D)  ब्यूिि-2-िि  
 

 
 

168) What will be the possible product when CH3COCl is treated (CH3)4Sn?  

A)  Butan-2-one  

B)  Propanoic acid  

C)  Propanal  

D)  Propan-2-one  
 

 
 

168) जब CH3COCl की अलभकिया (CH3)4Sn से कराई जात़ी है, तब सींभि उत्पाद खया होगा?  

A)  ब्यूिि-2-िि  

B)  प्रोपिॉइक अम्ि  

C)  प्रोपेिि   

D)  प्रोपि-2-िि  
 

 
 

169) A group of particles held together in anyway like micelle may be regarded as  

A)  aggregate  

B)  flocculate  

C)  coagulate  

D)  precipitate  
 

 
 

169) ककस़ी ि ककस़ी प्रकार से लमसेि जैस ेआयोक्जत कर्ों के एक समूह को ककसके रूप में मािा जा सकता है?  

A)  ऐग्रगेि  

B)  फ्िॉखयुिेि  

C)  कोऐग्युिेि  
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D)  वप्रलसवपिेि  
 

 
 

170) When negatively charged AgI is coagulated with equal volumes of the given electrolytes, what 
will be the minimum molar ratio of concentrations of these electrolytes? 
 
The electrolytes are: NaNO3, Ba(NO3)2, Al(NO3)3 and Th(NO3)4  

A)  1:2:3:4  

B)  1:3:2:1  

C)  4:3:3:1  

D)  4:3:2:1  
 

 
 

170) जब िकारात्मक रूप से प्रभाररत AgI को टदए गए इिेखट्रोिाइि के बराबर मािा के सार् स्कीं टदत ककया जाता है, 

तब इि इिेखट्रोिाइि की साींद्रता का धयूितम मोिर अिुपात ककतिा होगा? 

 

इिेखट्रोिाइि हैं: NaNO3, Ba(NO3)2, Al(NO3)3 और Th(NO3)4  

A)  1:2:3:4  

B)  1:3:2:1  

C)  4:3:3:1  

D)  4:3:2:1  
 

 
 

171) What will be the order in third ionization energies of group 13 elements?  

A)  B > Ga > Tl > Al > In  

B)  B > Ga < Tl > Al > In  

C)  B < Ga < Tl < Al < In  

D)  B < Ga > Tl < Al > In  
 

 
 

171) समूह 13 तत्िों के त़ीसरे आयि़ीकरर् ऊजाथ में िम खया होगा?  

A)  B > Ga > Tl > Al > In  

B)  B > Ga < Tl > Al > In  

C)  B < Ga < Tl < Al < In  

D)  B < Ga > Tl < Al > In  
 

 
 

172) Which complex among the following is the inner metallic complex of first order?  
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A)  Na[Co(acac)3]  

B)  [B(acac)2][FeCl4]  

C)  Na[Co(NO2)3(acac)3]  

D)  [Cu(acac)3]  
 

 
 

172) निम्ि समक्ष्ियों में से कौि स़ी प्रर्म ऑडथर की भ़ीतरी धातु समक्ष्ि है?  

A)  Na[Co(acac)3]  

B)  [B(acac)2][FeCl4]  

C)  Na[Co(NO2)3(acac)3]  

D)  [Cu(acac)3]  
 

 
 

173) How is the acid dissociation constant of a weak acid (Ka) related to the concentration of the 
acid and its equivalent conductance (l)? 
 
Let the conductance at infinite dilution=l0. (Symbols and notations carry their usual meaning)  

A)  Ka=α2C2/(α0-α)  

B)  Ka=α2C/α0(α0-α)  

C)  Ka=α2C/α0(α0+α)  

D)  Ka=α2/Cα0(α0-α)  
 

 
 

173) दबुथि अम्ि (Ka) के अम्ि वियोजि क्स्र्राींक का, अम्ि के साधद्रता और उसके तुल्‍य चािकत्ि (l) के सार् 

कैसे सींबींधधत है? 

 

अिींत तितुा पर चािकत्ि=l0 है। (धचधहों और सींकेतों के अपिे प्रचलित अर्थ होते हैं)  

A)  Ka=α2C2/(α0-α)  

B)  Ka=α2C/α0(α0-α)  

C)  Ka=α2C/α0(α0+α)  

D)  Ka=α2/Cα0(α0-α)  
 

 
 

174) Which of the following equations is CORRECT?  

A)  Specific conductance = conductance x cell constant  

B)  Specific conductance = conductance/cell constant  

C)  Specific conductance = conductance x resistance  

D)  Specific conductance = conductance/resistance  
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174) निम्ि में से कौि सा सम़ीकरर् सही है?  

A)  विलशष्ि चािकत्ि = चािकत्ि x सेि क्स्र्राींक  

B)  विलशष्ि चािकत्ि = चािकत्ि/सेि क्स्र्राींक  

C)  विलशष्ि चािकत्ि = चािकत्ि x प्रनतरोध  

D)  विलशष्ि चािकत्ि = चािकत्ि/प्रनतरोध  
 

 
 

175) What will be the Ecell value of the cell given? Zn/ZnSO4 (0.002M)//ZnSO4 (0.2M)/Zn. Given 
E0

Zn
2+

/Zn = -0.76 V.  

A)  0.0295 V  

B)  0.118 V  

C)  0.059 V  

D)  (-0.059) V  
 

 
 

175) टदए गए कोक्ष्ठका का Ecell माि ककतिा होगा?  

 
Zn/ZnSO4 (0.002M)//ZnSO4 (0.2M)/Zn 

E0
Zn

2+
/Zn = -0.76 V टदया गया है।  

A)  0.0295 V  

B)  0.118 V  

C)  0.059 V  

D)  (-0.059) V  
 

 
 

176) There are five molecules in a vessel with velocities, 1, 4, 7, 9 and 10 m/s. What will be the 
ratio between their root mean square and average velocity?  

A)  3.126  

B)  1.133  

C)  0.882  

D)  2.234  
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176) 1, 4, 7, 9 और 10 m/s िेग के सार् एक पाि में पााँच अरु् हैं। उिके मूि माध्य िगथ और औसत िगे के ब़ीच 

अिुपात ककतिा होगा?  

A)  3.126  

B)  1.133  

C)  0.882  

D)  2.234  
 

 
 

177) What will be value of "b" with respect to the radius of each gas molecule in the Van der 
Waal's equation of state? Consider the radius as ''r''.  

A)  2x(2/3)πr3  

B)  4x(4/3)πr3  

C)  4x(8/3)πr2  

D)  3x(16/3)πr  
 

 
 

177) िाि डर िाल्स की, अिस्र्ा सम़ीकरर् में प्रत्येक गैस अरु् की त्रिज्या के सधदभथ में "b" का माि ककतिा होगा? 

त्रिज्या को ''r'' के रूप में माि िें।  

A)  2x(2/3)πr3  

B)  4x(4/3)πr3  

C)  4x(8/3)πr2  

D)  3x(16/3)πr  
 

 
 

178) What will be the average kinetic energy in calories for 51 g of NH3 at 37 oC?  

A)  3.77 kcal  

B)  1.26 kcal  

C)  2.79 kcal  

D)  4.65 kcal  
 

 
 

178) 37 °C पर 51 g के NH3 के लिए कैिोरी में औसत गनतज ऊजाथ ककति़ी होग़ी?  

A)  3.77 kcal  

B)  1.26 kcal  

C)  2.79 kcal  

D)  4.65 kcal  
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179) Which reaction among the following generates H2O2 from hydrazine?  

A)  NH2NH2 treated with excess ozone  

B)  NH2NH2 treated with water  

C)  NH2NH2 treated with carbon dioxide  

D)  NH2NH2 treated with excess oxygen  
 

 
 

179) निम्ि में से कौि स़ी अलभकिया हाइड्रज़़ीि से H2O2 उत्पधि करत़ी है?  

A)  अनतररखत ओजोि के सार् अलभकिनयत NH2NH2  

B)  पाि़ी के सार् अलभकिनयत NH2NH2  

C)  काबथि डाइऑखसाइड के सार् अलभकिनयत NH2NH2  

D)  अनतररखत ऑखस़ीजि के सार् अलभकिनयत NH2NH2  
 

 
 

180) What are the products formed when NH3 is treated with NaOCl?  

A)  NH2NH2 and NH4OH  

B)  NH4Cl and NH2Cl  

C)  NH2NH2, N2, NaOH and NH4Cl  

D)  NaOH and H2  
 

 
 

180) जब NH3 की अलभकिया NaOCl से होत़ी है, तब कौि से उत्पाद बिते हैं?  

A)  NH2NH2 और NH4OH  

B)  NH4Cl और NH2Cl  

C)  NH2NH2, N2, NaOH और NH4Cl  

D)  NaOH और H2  
 

 
 

181) Which Grignard reagent should be chosen to react with CO2 to prepare 2, 2-
dimethylpropanoic acid?  

A)  s-butylMgBr  

B)  t-butylMgBr  

C)  iso-propylMgBr  

D)  n-butylMgBr  
 



Set Id : 61814_3 Technical Assistant (LAB) - Chemistry_BATCH3_18OCT2020 

Page75of85  

 
 

181) 2, 2-डाइलमर्ाइिप्रोपिॉइक अम्ि तैयार करिे के लिए CO2 के सार् अलभकिया करिे के लिए कौि सा धग्रगिाडथ 
अलभकमथक चिुा जािा चाटहए?  

A)  s-butylMgBr  

B)  t-butylMgBr  

C)  iso-propylMgBr  

D)  n-butylMgBr  
 

 
 

182) Which is the CORRECT statement regarding electrophilic or nucleophilic attack on the 
pyridine ring?  

A)  2, 4 and 6 for electrophilic attack  

B)  3 and 5 for nucleophilic attack  

C)  3 and 5 for electrophilic attack  

D)  2 and 6 for electrophilic attack  
 

 
 

182) पाइरीड़ीि ररींग पर इिेखट्रॉिराग़ी या िालभकराग़ी आिमर् के बारे में कौि सा कर्ि सही है?  

A)  इिेखट्रॉिराग़ी आिमर् के लिए 2, 4 और 6  

B)  िालभकराग़ी आिमर् के लिए 3 और 5  

C)  इिेखट्रॉिराग़ी आिमर् के लिए 3 और 5  

D)  इिेखट्रॉिराग़ी आिमर् के लिए 2 और 6  
 

 
 

183) Which of the following compounds are formed when calcium salts of propanoic and ethanoic 
acids are heated together?  

A)  Butene  

B)  Ethanoic acid  

C)  Propanoic acid  

D)  Butan-2-one  
 

 
 

183) जब प्रोपिॉइक और एर्िॉइक अम्ि के कैक्ल्शयम ििर् एक सार् गरम ककए जाते हैं, तब निम्िलिखित 

यौधगकों में से कौि सा बिता है?  

A)  ब्यूिीि  
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B)  एर्िॉइक अम्ि  

C)  प्रोपिॉइक अम्ि  

D)  ब्यूिि-2-िि  
 

 
 

184) Which compound will be formed when propanoic acid is treated with HN3 in presence of 
H2SO4?  

A)  Methanamine  

B)  N-methylethanamine  

C)  Ethanamine  

D)  Dimethyl amine  
 

 
 

184) H2SO4 की उपक्स्र्नत में जब प्रोपिॉइक अम्ि की अलभकिया HN3 से कराई जात़ी है, तब कौि सा यौधगक 

बिेगा?  

A)  मेर्िअमैि  

B)  N-लमर्ाइिएर्िअमैि  

C)  एर्िअमैि  

D)  डाइलमर्ाइि अमाइि  
 

 
 

185) Which acid will be formed when propene is treated with CO and steam under high 
temperature and pressure in presence of H3PO4?  

A)  Propanoic acid  

B)  2-methylpropanoic acid  

C)  Butanoic acid  

D)  Propanone  
 

 
 

185) H3PO4 की उपक्स्र्नत में जब प्रोप़ीि की अलभकिया CO से कराई जात़ी है और उच्च तापमाि और दबाि में 
भाप टदया जाता है तब कौि सा अम्ि बिेगा?  

A)  प्रोपिॉइक अम्ि  

B)  2-लमर्ाइिप्रोपिॉइक अम्ि  

C)  ब्यूििॉइक अम्ि  
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D)  प्रोपिोि  
 

 
 

186) What kind of stereoregularity will be obtained in the polymer when TiCl4 and Et3Al is added to 
propene to form polypropylene?  

A)  Syndiotactic polymer  

B)  Atactic polymer  

C)  Syndiotactic and atactic polymer  

D)  Isotactic polymer  
 

 
 

186) पॉिीप्रोपिीि तैयार होिे के लिए जब प्रोप़ीि में TiCl4 और Et3Al लमिाए जाते हैं, तब बहुिक में ककस प्रकार 
की स्िीररयो नियलमतता प्राप्त होग़ी?  

A)  लसक्धडयोिैक्खिक बहुिक  

B)  अिैक्खिक बहुिक  

C)  लसक्धडयोिैक्खिक और अिैक्खिक बहुिक  

D)  आइसोिैक्खिक बहुिक  
 

 
 

187) Which of the following is a polyamide?  

A)  Orlon  

B)  Nylon 6  

C)  Terylene  

D)  Polyvinyl chloride  
 

 
 

187) निम्ि में से कौि सा पॉलियामाइड है?  

A)  ऑरिॉि  

B)  िायिॉि 6  

C)  िैरीिीि  

D)  पोिीवििाइि खिोराइड  
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188) Which dye will be obtained when dimethyl aniline is condensed with benzaldehyde at 100 oC 
and H2SO4?  

A)  Congo red  

B)  Rosaniline  

C)  Malachite green  

D)  Ramazol  
 

 
 

188) जब डाइलमर्ाइि एनिलिि का सींघिि 100 °C पर बेधज़ाक्ल्डहाइड और H2SO4 के सार् कराया जाता है, तब 

कौि सा डाई प्राप्त होगा?  

A)  काींगो रेड  

B)  रोजेनिलिि  

C)  मैिेकाइि ग्ऱीि  

D)  रमाज़ोि  
 

 
 

189) Calculate the maximum work which can be obtained when 28 g of nitrogen is reduced from 10 
to 1 atm pressure at a constant temperature of 27 oC. What will be the ΔU and q values?  

A)  W = 1.382 kcal, ΔU = 0 and q = -1.382 kcal  

B)  W = -1.382 kcal, ΔU = 0 and q = 1.382 kcal  

C)  W = -1.382 kcal, ΔU = 2.764 kcal and q = 1.382 kcal  

D)  W = -2.498 kcal, ΔU = 0 and q = 2.498 kcal  
 

 
 

189) 27 °C के क्स्र्र तापमाि पर जब िाइट्रोजि का 28 g, 10 स े1 atm दबाि के लिए अपचनयत ककया जाता है, 

तब प्राप्त होि ेिािे अधधकतम कायथ की गर्िा करें। ΔU और q के माि ककतिे होंगे?  

A)  W = 1.382 kcal, ΔU = 0 और q = -1.382 kcal  

B)  W = -1.382 kcal, ΔU = 0 और q = 1.382 kcal  

C)  W = -1.382 kcal, ΔU = 2.764 kcal और q = 1.382 kcal  

D)  W = -2.498 kcal, ΔU = 0 और q = 2.498 kcal  
 

 
 

190) Which of the following compounds will undergo tautomerism?  
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A)  

 

B)  

 

C)  

 

D)  

 

 

 
 

190) निम्ि में से कौि सा यौधगक चिाियिता से गजुरेगा?  

A)  

 

B)  

 

C)  

 

D)  

 

 

 
 

191) What are the products formed when p-methylphenol is treated with CHCl3 in presence of a 
strong base?  

A)  

 

B)  

 

C)  

 

D)  
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191) प्रबि क्षार की उपक्स्र्नत में जब p-लमर्ाइिकफिॉि की अलभकिया CHCl3 से कराई जात़ी है, तब कौि से उत्पाद 

बिते हैं?  

A)  

 

B)  

 

C)  

 

D)  

 

 

 
 

192) Which rate expression about enzyme catalyst is acceptable? The reaction sequence: 

 
   
  

 

A)  rate = k3{[E]+[ES]}/{1+(k2+k3)x1/[S]}  

B)  rate = k3{[E]+[ES]}/{1+(k2+k3)/k1x1/[S]}  

C)  rate = k3{[E]+[ES]}/{(k2+k3)/k1x[S]}  

D)  rate = k3{[E]+[ES]}/{1+(k3/k1)x1/[S]}  
 

 
 

192) एींजाइम उत्प्रेरक के सींबींध में कौि सा दर(रेि) व्यींजक स्ि़ीकायथ है? अलभकिया अिुिम है: 

 
   
  

 

A)  rate = k3{[E]+[ES]}/{1+(k2+k3)x1/[S]}  

B)  rate = k3{[E]+[ES]}/{1+(k2+k3)/k1x1/[S]}  

C)  rate = k3{[E]+[ES]}/{(k2+k3)/k1x[S]}  

D)  rate = k3{[E]+[ES]}/{1+(k3/k1)x1/[S]}  
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193) An amine complex of cobalt has a molar conductivity of 430 mho. It gives 3 moles of AgCl 
with AgNO3. Which formula correctly satisfies the given observations?  

A)  [Co(NH3)5H2O]Cl2  

B)  [Co(NH3)5Cl2]Cl  

C)  [Co(NH3)3Cl3]  

D)  [Co(NH3)6]Cl3  
 

 
 

193) कोबाल्ि का एक अमाइि सींकुि 430 mho का मोिर चािकता देता है। यह AgNO3 के सार् AgCl के 3 मोल्स 

देता है। कौि सा सूि टदए गए पयथिेक्षकर्ों को सही ढींग स ेपूरा करता है?  

A)  [Co(NH3)5H2O]Cl2  

B)  [Co(NH3)5Cl2]Cl  

C)  [Co(NH3)3Cl3]  

D)  [Co(NH3)6]Cl3  
 

 
 

194) What will be the Ksp value of AgCl from the given cell whose Ecell = 0.0675 V? 
Given cell: Ag/ KCl (0.2 M) (Saturated with AgCl) || KCl/Hg2Cl2/Hg and Ecell = 0.315 V at 25 oC.  

A)  0.0789  

B)  0.0684  

C)  0.684  

D)  0.789  
 

 
 

194) टदए गए कोक्ष्ठका के क्जसका Ecell = 0.0675 V है, AgCl का Ksp माि ककतिा होगा? 

टदया गया कोक्ष्ठका: Ag/ KCl (0.2M) (AgCl के सार् सींतरप्‍त) || KCl/Hg2Cl2/Hg और 25 °C पर Ecell = 0.315 V 

है।  

A)  0.0789  

B)  0.0684  

C)  0.684  

D)  0.789  
 

 
 

195) What will be the number of binary collisions per mL per second of H2 gas at 1 atm 
and  27 oC? Consider the diameter of H2 molecule is 1.35 Å.  

A)  212x107  
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B)  22x107  

C)  1726x107  

D)  316x107  
 

 
 

195) 1 atm और 27 °C पर H2 गैस के प्रनत सेकीं ड प्रनत mL द्विअींग़ी सींघ्िि की सींख्या ककति़ी होग़ी? H2 अरु् के 

व्यास को 1.35 Å माि िें।  

A)  212x107  

B)  22x107  

C)  1726x107  

D)  316x107  
 

 
 

196) What change in oxidation number will occur when NH2OH is present in alkaline solution?  

A)  From -1 to 0  

B)  From -1 to -3  

C)  From -1 to (0 and -3)  

D)  From -1 to (1 and -2)  
 

 
 

196) जब NH2OH क्षारीय विियि में मौजूद है तब ऑखस़ीकरर् सींख्या में खया पररितथि होगा?  

A)  -1 से 0  

B)  -1 से -3  

C)  -1 से (0 और -3)  

D)  -1 से (1 और -2)  
 

 
 

197) What happens when sodium salt of diethylmalonate is treated with ethylchloroacetate 
followed by KOH and HCl at high temperature?  

A)  HO2CCH2CH2CO2H  

B)  HO2CCH2CH2CH2CO2C2H5  

C)  HO2CCH2CO2H  

D)  (HO2C)2CHCH2CO2H  
 

 
 



Set Id : 61814_3 Technical Assistant (LAB) - Chemistry_BATCH3_18OCT2020 

Page83of85  

197) खया होता है जब डाइएधर्िमेिोिेि के सोडडयम ििर् की अलभकिया एधर्िखिोरोएस़ीिेि से होत़ी है और उस के 

बाद उच्च तापमाि पर KOH और HCl से?  

A)  HO2CCH2CH2CO2H  

B)  HO2CCH2CH2CH2CO2C2H5  

C)  HO2CCH2CO2H  

D)  (HO2C)2CHCH2CO2H  
 

 
 

198) Which structure of phenolphthalein makes it appear pink in alkaline medium?  

A)  

 

B)  

 

C)  

 

D)  

 

 

 
 

198)  फीिॉल्फ्र्िीि की कौि स़ी सींरचिा उसे क्षारीय माध्यम में गुिाब़ी टदिाता है?  

A)  

 

B)  

 

C)  
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D)  

 

 

 
 

199) The efficiency of a Carnot cycle was found to be 1/4. When the temperature of the source was 
increased by 50 oC the efficiency changed to 1/2. What will be the source and sink temperature?  

A)  Source temperature = 200 K and sink temperature = 150 K  

B)  Source temperature = 400 K and sink temperature = 100 K  

C)  Source temperature = 250 K and sink temperature = 100 K  

D)  Source temperature = 300 K and sink temperature = 200 K  
 

 
 

199) कािो चि की दक्षता 1/4 पाई गई। जब स्रोत का तापमाि 50°C से बढाया गया, दक्षता 1/2 में बदि गई। स्रोत 

और लसींक तापमाि ककतिे होंगे?  

A)  स्रोत तापमाि = 200 K और लसींक तापमाि = 150 K  

B)  स्रोत तापमाि = 400 K और लसींक तापमाि = 100 K  

C)  स्रोत तापमाि = 250 K और लसींक तापमाि = 100 K  

D)  स्रोत तापमाि = 300 K और लसींक तापमाि = 200 K  
 

 
 

200) How many optically active isomers are possible in case of the given compound? The 
compound: HOOC(CHOH)3COOH  

A)  4  

B)  2  

C)  1  

D)  3  
 

 
 

200) टदए गए यौधगक के मामिे में ककतिे दृक्ष्िगत रूप से सकिय समाियि सींभि हैं? यौधगक: 

HOOC(CHOH)3COOH  

A)  4  

B)  2  

C)  1  

D)  3  
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Question Paper No:  61814_3  

Answer Key: 

 

1 C 31 C 61 D 91 A 121 B 151 C 181 B 

2 B 32 A 62 D 92 C 122 B 152 B 182 C 

3 B 33 B 63 C 93 C 123 C 153 B 183 D 

4 B 34 D 64 B 94 B 124 A 154 A 184 C 

5 B 35 A 65 C 95 B 125 B 155 B 185 B 

6 C 36 D 66 A 96 D 126 A 156 C 186 D 

7 C 37 B 67 A 97 D 127 C 157 B 187 B 

8 C 38 A 68 C 98 B 128 B 158 D 188 C 

9 A 39 C 69 A 99 C 129 B 159 B 189 B 

10 D 40 C 70 D 100 A 130 C 160 A 190 A 

11 D 41 C 71 C 101 B 131 D 161 C 191 B 

12 B 42 A 72 D 102 D 132 B 162 A 192 B 

13 C 43 C 73 C 103 B 133 B 163 B 193 D 

14 B 44 B 74 B 104 A 134 C 164 C 194 B 

15 A 45 A 75 A 105 B 135 A 165 C 195 C 

16 A 46 D 76 A 106 B 136 C 166 B 196 C 

17 D 47 C 77 B 107 C 137 D 167 D 197 A 

18 B 48 C 78 C 108 B 138 A 168 D 198 B 

19 D 49 A 79 D 109 C 139 B 169 A 199 A 

20 C 50 B 80 C 110 C 140 A 170 D 200 B 

21 D 51 B 81 A 111 D 141 A 171 A     

22 D 52 A 82 A 112 C 142 A 172 D     

23 A 53 A 83 B 113 A 143 C 173 B     

24 C 54 A 84 C 114 C 144 B 174 A     

25 A 55 B 85 A 115 D 145 A 175 C     

26 C 56 C 86 C 116 B 146 B 176 B     

27 D 57 B 87 A 117 C 147 A 177 B     

28 A 58 C 88 C 118 A 148 B 178 C     

29 C 59 A 89 A 119 C 149 D 179 D     

30 A 60 B 90 A 120 A 150 B 180 C     
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